Report No.:2202RSU047-U7

Type 6 Radar

Waveform_5

It tansy |9 0 =2 = -

(0] SESES Sagn S&=0 SGST SE1S
= 5595 S4a4T= 5415 5=17T 5550
A SE=E55 S=5s SE51S SSa1 =S==1
1= S5O0 SZ55S S5 54449 S=59
=k SETE E=p=i=1=] S=Z=0 SEEE Sa400
=24 =T S SGBSG S4G6 5449 L=p= L= ol
= SETE STO= S=193 S4=T SS5T
F= S50 s=29a SESE SE=1 =515
80} =s=Ta S4a40= SSS= S54= S=TS
B =3 ==12= == == SE=E=EE =s54a4= = =n=E. ¥
=i ==11 SaASE S=9a0 SST= S=TO
== ==14 =R 1=1m ] SE=4 S=91 ===1
(=18} S=ES5 SS516 SE24S == =1=] S=Z1=
[ =14 L= =g o =T1= SEEDS S=1= S415
T S=ETE SS5=T == =11 SEa=5 S==4
TS SSE5S SE=T S&0O0 SE4S S&TT
B SaA== E=1=1= g =471 =417 =c1=1m]
E=1=4 =S99z =t=p R m] =S=T1 STo9 =S=T0O
=18} SEE3= =t =1= SSaO= SZEAG 4=
b= =4 Saa5 E=1=3=1rd =714 SEET S=Z51

Type 6 Radar Waveform_6

T:or  tmiiea |O i = = <

(5] Sa== === SS55 =S=T= SEE=S
= 5554 =5597 5495 S4a45s0 S=25=
A1 Saa= === SESE Sa4= S=ET=
1= So=E= S=== S=== =a=g =451
=2 5554 5555 SE595 S415 5565
== SS=S I=1=1=1=] SS5= S4a=1 S=40
=i SSa= S=ETE =1 = =y ===1 SEESs
== 53571 S=27T44 S55=4 SEES 5541
<A SEEE I=1=1=1=] =4=1 S405 = 8=118
b =4 S515 =1 ==4 =1 =551 =701 ==t T 8
=i S535=1 SB0O35 S=2835 SaESE 55494
=D =545 =7T=1 =SS0 =1 =1 =1y S=g9
(=118} S==9 [=r=i=m] S&a=0 ===1 SESS
L= 1=3 f=p 1= E ¥ S4BT =355 SE43= SS0=
T =S990 =S&14 =719 =514 E=t=3=1=1
T= === a=] S=9= =ST=ES =11 S=gsS
E=1n] S5z SsS=1 Sa5s= S=a= =Tas
E=1 =4 L= B = SaTE S4a5S =401 =714
=18} =T1T S11= ==11 = =1} ===
b= 1= Sa4=5 ==4=1 =1 Sa== =291 S=Ts

Type 6 Radar Waveform_7

L:oe tanzy |O = = = =

(5] s=91 S49= Sag= =S=5=4 SaS0
= 5575 S4a419 SSEBE S545 S5856
A == o = e E=1=3=lhr S55= =595
1= SETE S41= S4=1 S5435 S=a5
=ik =T=1 S=59 Sa407T S545 Sa=1
== ==90 ==9aT S=Ta L=t =1y SS=S=
=i =SSTS STaS = = SS== =S=10
== 1= =585 S==0 SET3a SESS =S=7T=
=N (=1 == by SEE1 Sa40= Saz== f=p=d=] =}
b =4 =g =] Sa13= ===t S4a=0 =450
=i S53TE SE9= L= = R 535S 5535
=D === L= e Y S=T= SE355 Sa4==
(=18 ] S454 S45= =1 = == S04 S4156
[ =1=4 ==91 S5 SaA=ES =511 Sa45=
T ==ST S=90 === =441 =413=
TS ==91 =59 SEl1E Sa0S SSOosS
E=10 ] S=7T0O S==9 SS== ==T1 =S=57T
8= (=1 == ==y D= | SEES Sa9a0 S99
=10} =417 =551 =S=44 S=T= SE=S0
L= =3 L=ard = b 5559 SB35 5549 S

125 of 195




Report No.:2202RSU047-U7

Type 6 Radar

Waveform_8

It tansy |9 0 =2 = -

(0] ==T1 S==T Sa4== =1 =1=1=4 Sa==
= SsS5615 5544 5645 STo93 5515
A =457 E=1=3=1=] SEZEE= SS5T =411
1= SEET 5535493 5554 E=1=ar = | SEE0
=k SS0= S515 SETS S495 ==19
=24 5519 53559 SO0 =pe [ = b | E=To A= b=
= Sa4=-1 =t = SEaS S=10 S54=
F= SE49 sa55= [=1==h 1} SadE (=== b
80} L=t R=1 8 =454 SS=S S4=5 =400
B =3 L= Y S2TE SET1 S=T= S=Ts
=i S=g95 SEZEE S4== S40= S=Z0OT
== ==T9a STE= S=Es= SSEE SEOT
(=18} =420 E=1= = SE=T S==4 S4TS
[ =14 =SS0 =31= SEES S=E== SEES
T SS=S=0 E=t=1=1=] SESS S=90 =417
TS S54 =51 S410 SS== S4T=
B =S1s === 1= S4=4 SETE L= s S
E=1=4 =T1T SES= == =14 S=TT =719
=18} =541 SaAZE SEEE SSO= =451
b= =4 =T=1 E=t=1=1=1 SZST Sa4=S S=Z1=

Type 6 Radar Waveform_9

T:oT fanea | 2 = = <

[ n ] SEZEE Sqa495 S=549 ===1 SZ65T
= SaE0 S5S3565 S5T15 5597 5525
a4 SE5SS S4SS =SS0 S=TT S4a=S
1= S==0 SEEE SEZ=T === SE49
== =511 S451 S5156 S=29= Sa407
= STOS S4=T SS== == = S555
= L= =y S=50 =409 =S=41 =S51=
== S544 53557 S=7T4 S507 53533535
80} SS=T S4T= = == SESE L=t 1=hr g
A= =S=5=41 Sq4=5 =] = 1oy S54T S=5=T
=i ST S4ag9= SEOS S60O1 535359
=D SaS= =541 SESS SSTS ==t =]
(=118} S=09a S=s5= =s=91 =401 === b
L= 1=3 S519 =1 =359 (=1=1uln | S&a0n0
T S59= STO= === Sagn Sa=0
T= S555 SSS0 = B == = =sS5=1
E=n ] ==t Ay == m i § =] R S=25= =a3=T
BoD =55 =S =] ==TT SET= =41
=18} =1 =hc 1§ Sa03= SEES S0t S=97T
b= L= = S =y =sqa459 =559 STE= Sa==

Type 6 Radar Waveform_10

o Ganea | 2 = = <

[ n ] S405 SZE0 ==00 == = Sa=T
L= === ==491 ==1= (=t=1=1m ] ===
. =1 =1=hr S=TT =S54 =S5T= S155
1= S56E SEZEBS 55T S566 S550
=i =SaS4a ==STT SEaTS =1~ = S4=
== s=91 E=1=1=1r g SEOS S=49= ==T7a
=0 S4aeS SESsS ===1 =l S==0
== S94=T SS1= Ss=59 I =1=F=d4m] =411
e 53554 5594 S4a91 S5 14 S5S5E0
L 8-=4 L= = 1=1m] =4aTa SS=0 =1 = = SSO=
=0 === oy S5=1 Sq== == 0= SS=T
== SE35 ===1 SSS= =1 == =T1=
[=1n] =S4T STOo= SS=0 === Saaz=
L= 1=4 S=Z635 S350 S710 535395 SBTO
T S49= E=t=3=1=1 S4== ===1 SETE
T= STE=E= Sa4=5 S==5 S541 SEE5
E=n ] SEESDS S==T Sa== =t == ==a9
E=1=4 Sa51 =T=1 SE5= == T=10 8 == =171
k=1 S511 Same S5355 S5=4993 S4a4=1
b= =4 S==1 SESS S4T7TSs =aS1 SaE0

126 of 195




: Report No.:2202RSU047-U7
Type 6 Radar Waveform_11
I:icoTs  tmuzy |O o = = =
(8 ] SEE1 Sag9 =711 STO= S==9
= SEEE S=1= S=a9= SEZE SSE1
1 SE=ES =S=41 SESE SS=TO S4TT
1= Sa4S5 S44= S=T1 S&17T S55S
= =ToOs =T1E SSaoD SSEQ ST1z=
== =457 SE=T S=17T S&0O1 SE4T
= STOE E=t=pe 1= SS== S4== sS559
3= L= A= 8 =5=1 E=1=1 = S&TT SS9
RN =574 S455 S4=0 5594 SEBES
L =4 S=T= S5== S417T SZ0O= SET3a
=i 5575 SaTO S5SB=3 SS9z 5715
== === 1m] SE=4 S401 Sa4== SSTE
(=18} SBES9 S35z S6=5 5455 SE45
[ =14 SEST =P R 8 SSa= S==T SSTE
T Sas9 SZ635 5595 554 S5TE
T ==91 ===t S==1 S=a4 Sl
Hix =57 S2TE (= = = =4 S=54 =S4T
=14 SESS SaASS SIS0 SZ0= S=ZS1
h=1n} =310 SETS S4a4=5 SES= ==59a
b= =4 S=TO ==11 S4=55S S&0O0 SSEE
Type 6 Radar Waveform_12
rT:ioe cminzy |© 0 = = <
(8 ] ==44 SZ2a= SE4T S=a == R
= Sa0S =T1= Sa45S S=11 S=a=
1L 5559 S33=0 55=4 S=9a0 S495
1= =447 S4a4T=S S=T1 SEE= S=TS
=21 S3E10 5556 SESE SESE SES5E
=0 ==19 =] =1 S4=1 SESS ==11
=Zix S595 Sa495 5525 E=t=1= S=ZTa
=D SESES Sa4= S=4T S5 SS5as
e 1 Sam S5=Z57T S55&=9 5455 =p= L= |
L =4 ==T ==T1 S==1 SSSS SESE
=i SES3S =3=s0 SE=T S==1 Sa5=
=D SES55 Sa== SSa4d == 1= 1= S=9o4a
(=18} =501 s=29a SE=3a = == =451
[ =14 SS=S SaAEE SESE S=TT S5ST
T SESa =541 STE% I=1==1=1 SEES
= =S4 SSSO SSET S441 S4=T
E=1n ] ==97T S=54 S==93 SEE= S51s
L= 1= =SSO SES=E S&a4d SE5E1 SEEZS
=10} E==d =1 =} =S4T S=TS S=54 SESS
L= 1 =4 =aT=E =5=1 SE== S=Za9= S5=0
Type 6 Radar Waveform_13
r:os tansy |O 1 E= =) =
(5 ] == =1=1] =t="1m b= SSSS S45= ==91
= =450 =t=d{=1m] SSa4= =47TT ==9T
10 55935 Ss591 55565 S455 55149
1= SS=S Sa0= S&10 =487 =T=1
=i S14TE =S=T SaSs0 =saSsa =ST1S
=2 SEBE S56B5 S5=25 SBEEg S5355S
= =SS=1 SS=S SE5S ==TT SETS
=1 S&E=0 =t=1m =] =557 == = § =491
=R SEO3= Sa5s SESE s554 S=549
L 3= S=a= =S=41 =SEeg =sS=9a SSS5
=i SETS SaTO S=TS SaSS SElE
== = = ==1 SEES SS== =499
(=38} Sa= ==2TT =47 SEET E=1= = Ly
[ =14 ==19 [=1=1=1"1 = B A= =457 =T10
T SEO5 == =1 SS=9 =S=09 =a4=9
= S45 S455S 537TS SEa05 S=99
E=1n ] =&a19 Sa1= == A= =581 SEEa
E=1=4 SEE5 =T1= = == Sq455 SETO
=18} S5T156 S5=9a S4=7 S41= S5==0
b= 1= =S4 =S51= =401 === 1m] S=40

127 of 195




Report No.:2202RSU047-U7

Type 6 Radar Waveform_14

r:ioe mitzy |O i = = <

[ ] L=p= M= | SZ6B6 S519 S513 SE11
= ==t =] I=1=1=1m] SEa1S S&a40 S==9a
A1 === =t t=1m] SEOE S&S0 S=a0
1= =4 == == = =550 =1 ===y L= ===
= SEaS= sS4 =SS1s S=24 E=t=m[=]
== === 1- [=1="ara 8 Sa=9a STO= ===
=i = A | =0T S=TsS ==10 ==aT
== 1 = S===9 =7=1 ==11 L= = e ] ==7T1
<Lk =SSTS =S=T =SS41 =ST=E= =S4T
B 8= ==t =1y SS=4 Sa=T ===0 E=1=3=E 1
=i 5359 S350 5257 5559 =5S5T3=
=D Sa0= === =719 =711 =714
(=18} SEEZ [ =1=hrm= S=== SETS =30
L= 1=3 S490 =519 S=Z50 S3507T 5515
T == h=1=1] f==d =W S40= b= S Sa40=
T= =SS =1 =T=4 =1 SES5 S11= S=00
=i S=7T SETE S545 S405 S5=259
=14 S=sS =1 == SEaST =T0O S=9=
=18} =551 S=94 SSS5 S=90 =411
L= 1=3 55494 SBTE S5855 S599 SEBS1

Type 6 Radar Waveform_15

e = = = <

Lo ] SE=S4 S505 S4a455 SES00 S4a455
= Sa=1 SaES= SEa9= STOS SS5S55
A1 S=5S S=a9 SEAaAT SS0= =SSE1
1= =711 S==1 SESE= =TOaO 53TE
=l ] S&E40 Sa455 SE5G SE0O= ==94
== S =40z S=5sS S=ZE= =SS=4
= S=E4 SE=d5 f=p=a = £ 3 E= == =g Sa4Ts
== ST S=Z0T L= e Y SaE0 ==11
LN S5=7T3a S473a S45T S547TE =417
4= S=14 SS=0 sS40 =T=1 =1 =1 =]
=i S4== SE0O= SE4S = T A= S4=0
== = [ m b= | S454a S5E50 SBESS 531656
(=1 ] I=pc L R=] SS=1 S=5= =SSOl S555
[ =14 Saal S4S=S S=94 SEEG SS=5S
T S=04 S==a =591 ==Ta =0 =g
= S=TT SToO1 SET= =S40 SsSS==
S ] SESE S4== ===E1 SEa4= S5a4=
5= =ST== =47 =551 SESs S=s0
=10 ] =S=T1 =] = 1= ==t 8 =SsaSs0
L= 1=+ SE0O>= L= o R L= 1= 1o =717 =a=1

Type 6 Radar Waveform_16

ot Gz |O z = = <

Lo ] 53517 S=Z649 53591 S451 SEBETIS
= SE0OT S=a= =591 SEES E=t=1=1 8
1Ly S53=5= SESS Saas == = =g L= . =
15 SSOS SaSg S54S SSES S50
=21 L= = 3 S5a5 S57s SEEO SEd6
=5 E=1=]m = S4a5sa S=95 SSTE S===1
= =511 S4=5 =41 SE1T = =t =
== E=t=1=1=] =aT1 =S=5S0 SEE= =417
=Rk S=s= =SSO S=545 S=9aT SEO=
L 8= =]~ t=] =TOa0 ==11 SS=S E=1=JmL=]
=i === = S=E5= =s=9aT =S=a9= SE0OS
=4 = SZEe= L= = peis N ==4a9 SES5 =44
[=1n ] ==1 SS55 === S=Z=T ==309
55 Saz=E ===0 S4a5s= =405 =719
T == R ==4=1m] sS40 SE5S SEE1
= ST7T=4 SS40 5515 SEIS= S54=T
E=im ] SE0O= Sa=- SSAa= =S4T == 8=
5D SsEE= S51= =5S57T= 5419 sS54=
=1 n ] SEES ==111 S=Z51 S5 =1 =F=dm ]
o= S=a00 L=p b= | SBE15S S=Z19 SEBETS

128 of 195




Report No.:2202RSU047-U7

Type 6 Radar Waveform_17

I:zse mizy |°© o = = =

o SST= SSOs S5=T SEa== =sS1=
= S==T SE=g S=56= === = 3= 1=
A0 SS== =S=541 Saa9= Sa0= S515
1= === ==17T S5S= =S54 =271
= Sa=s =551 =SS4as =TE= S===
== == = S==0 S51S =Toaog S=TS
=0 ===1 SaSS =710 = = 1= sS19
== == = === 1 Sa5-1 L= B By ===
L. 18 ] 5595 556567 5275 53T SESE
A= Sa=T = i=1] ==11 ==10 =407
= S445 S4a=0 S57T15 5321 SsS539=
== SS=a SSAa5 S5=T ==T1 SETa
[=1m ] 5511 53591 S=250 5551 S5
[ = 1= SEES SETE SsS== =T1T S=ETE
T S=Zc9a 53351 SB=Z0 S4a4Ba9 S54a455
= E=F=i=1=] SE4S == 1= 1=] S4ST == m ]
iy =91 S5a5 S50 S=54 =401
E=s 1= STOE S4a4=5 =] =] == 1=1=% E=r=4=1-1
p= Lo ] === ) Sans S4as0 ==13= E=1=" =
b= L= Sa== =S40 S=a95 =419 ==T1

Type 6 Radar Waveform_18

Tioe wmiuwea |O z = = <

(0} 5352 S5=2T= S265 S350 S=Z60
= ==Ta =554 =44 ST=0 =SS0
a4 =S=2=9 SE=3= == 1oy =31= =1 ==
1% =40= SEES =4=0 =574 =SET
=ik SE3=T S53TE Sa=5 === 8 SaAE55
== SBTE 55356 SEET S5654 SBB0
=i =1 =1 =1-4 =710 SSEE SSa= S4a4=5S
5= S5E= S&10 S=Z5T =517 ==99
A SSO= sSS== S=a= SEZS == =t N
A= SSS= =557 S=94 =t =1 ===1
=i SEE3S Sa456 Sans S5=T =" =
=D =saSsga == m =] SEAS Sa4== =] =1y
(=118} == m i § STOa= =559 = =11 SE9S
L= 1= 5551 S=01 S441 S33=0 S3505
T SSo0O SS5S SE=S =514 =559
= S50 551656 ==07T L=1="r= | == ==
B Sa49= =sS=9 SSS0 =544 S=S0
E=1=4 =T =S535S SE4T = T = S545
k=18 | 553355 5554 S=25= sS5493 S4a=a
b= L= =s=91 S=3TS SES05 S5TS Sa0=

Type 6 Radar Waveform_19

Tize cmuzy |© 0 = = <

L0 ] S507T Sa0S S5B7T4 54593 5577
= =a4=1 S5TE SS1S S40= ==11
1 e SZE0 L= = SE=E=EE SE45 = A= §
b - ==17T SS== S0 S=9a1 SSTS
=ik STOE =11 == = Sa4aT STO=
=0 5524 sS54= S=96 5595 L= et
= S5S4a E=1=1=r SaS4 S&11 S=5=
== L= = =y S=E= SS== S&TO S=413=
<3N S4a4=9a STOS S400 SSE1 S=E=T
L =4 S=STT = T8 = S==T SS=0 =S=41
=i SEE= S509 SEB=26 S55S06 SEa9T
=0 Sa00 SE== SsSasa SS=4 S49=
(=18} SEZT =47 S=41 SEE4 ==Ta
[ =14 =541 =T1i0 SEES Sa0O= SESE
T S5 SaA== SEES S==5= SE1=
= SETE 5551 5493 S=90 S=55
E=1 0} sSS== SES1 S==1 S=s5S S=asS
E=1=4 SEQ= ===t Sa4== STE=E% SE==1
=10} S5S54 =S40 =417 S=a= SSES
b= =4 Sa=S E=p=im L= S=T= SGa=S SE5S

129 of 195




: Report No.:2202RSU047-U7
Type 6 Radar Waveform_20
I:ottanzy |O i = = <
(] S5ST =S=T= S&10 SS== SSE=
=4 S45= =SSOl SSgas =474 =S40
1 SEEE == = § STOE Sa452 L= B R Y
1= SEaEa S=55 S4S55S S4S5 =ZaT
=21 5355 S50 S47Ta S590 =T e |
== ==T0O =497 S4=5= S555 SE=1
= S4=4 S=2505 5451 S50 5414
== S4=1 =S54 S=TS S515 S5l
AN S&40 =55 S=43= ==17T S4as0
4= =417 =S55= SS&E0 =T1S SEET
= =450 =410 SS554 S=5=T S4ATS
== Sa44= =359 == g=1=) Sa459 =300
(=1 ] ==d=1m] S48 STOS S==0 S54=
[ == SBES3E Sa05 5555 5351 SEBES9
T S&a=T =S=57T ST1S S5a4= SETE
T= S403= 5511 SEBES6 S=95 55351
i Sa401 =551 S&0= =S535S S=Eo=
ES 4= SaSs= = =] =447 =445 L=pe L= m)
b= 1o ] S=TT =T=0 === = ==10 SEZ0
b= = SsSog =SS0 S=5S S5555 S49s
Type 6 Radar Waveform_21
rT:ioe cmizy |© 0 = = <
(8 ] =545 =511 SS4aA5 SE9d SE=9
= SE0= SS5S== SEES S&=T == B
1L S5O0 5525 5515 546 SEBSET
1= Ss=TO =571 SE== S=Z0O1 SETS
=21 Sag9a SaG6 S=d6 E=t== =] S445
=0 =551 SS5=Es SST= S&0O1 Sa0s
=Zix Sa5s9 5551 5557 5=7T1 SE45
=D SsS0s STOo= SSaS= SEES SSa=
e 1 SE99 S455S S50 SESE S=TE
L =4 ==97T == SSE= S=Za9= SET1
=i =539 == =1 = =s=01 SS0= (= =-=ir
=D =414 S51= S=S=3 SESS S=Z91
(=18} =711 L= == S=16 S=TT = =S= i
[ =14 SE=T S55E S5 S&1= S4SE
T S=TS S=TT SEEE S=Z=E= S5=Es
= =SS1= S=TS S5E1 S4=1 === he )
E=1n ] S=54 = e S==1 STO= SEET
L= 1= SS95 ==11 SESS S4=-1 S4a49=
=10} SETT =Too S==49 S=7Ta =710
L= 1 =4 L= R=1=1] SE4% SSa= SE=3= [=1= 1= hr
Type 6 Radar Waveform_22
LioT tminzy |O 0 = = =
(0] SS=E5 S5TS S4S= SZES0 = =t 8
= SEaa Sa445 S=6GE S5=7T4a 5451
A ==14 E=t=1=1=1 S5=1 STOS SESS
1= S501 SZa0 53546 SS9z S502
=ik SEIS= =T1= SSSS S415 S=ZEg
= SESE ==01 STOS S40= S54T
=i SS545 S5=S =S=T7Ta S&S=9a S5EE
== 1= S=0T E=1=3=1-1 S49= S=ETE S=Es=
Lk Sa==E == = SE493 SETE SESS
L =4 SEEE S5S== S4as Sa49= =ST1S
=i SEEGZ 5515 S5&5aE S5T15 S4B
== =T1T = 5= 8 S=SS SEAT S5541
(=18} 55333 5595 55=4 SB5T S4=9
[ =14 SEa9S S5S= SSS1 S=Z=0 S=a0
T ===1 =40 SE=E SZ=T === t=)
TS =415 =S54 S4== S=Z0O4 SS0S
H SSE5 SE4% S4a4= SS=1 Sa4=s
8= =a413= S=353= S==1 Ss=0 S=a=
=10} =591 Saas S40= S54S Sl
L= L=3 S=255S L= 5575 SESE 55T

130 of 195




: Report No.:2202RSU047-U7
Type 6 Radar Waveform_23
I:ot taney |° i = = <
(5] SSS0 S514 S41= ==41 =TO1
= SESE S4aToO =S54 S4aASsS S5S=
10 [=p ] ==y [=1="r =1 =597 =41 ===
1= =S=7T1 S=5= =] = =591 SSSa
=21 S4135 5275 S6TT 53559 S55355S
== S&a01 [=t=1m 8 === Sa4=T SSS9
= S5T1= S495 5497 S4a4635S S=2549
=1 = B8 Y [ =1=T=1ra S=94 Sa=9a SEGES
AN S=70 == == ===51 ==13= SEe4n
L 8= SSOs= =1 =Pc 1= =Toaog =SSS1 =490
= == 739 S4a4== S415 =T1= SE0a
== == S Sa0= =R e =g == | S=01
[ =18} =719 =S53T= S4=0 S=S0 =Too
L= 1=3 5512 =1 =T S=91 53519 SEBEGS
T =S=a9= =p=i=1- Sa=9 == ==y =S=T
= S5931 S5=0 5575 S=285 5557
E=1n] SES5E Sa=5 SEOE Sa== SE0S
E=1 =4 SEI== ==444 S=aT =35Ss STOoS
=11} =557 = 1=1=1 SSO= S=S= == = =]
b= 1= S==1 S45SS ==10 =SS5 S4TS
Type 6 Radar Waveform_24
Tioe iy |© = = = <2
[ ] S360 S53TS S5&5S4 L=hr W =y SaaE
= S=55= =i =1 sS4l =554 =515
A S&aT1 =459 SEI=ZS S5=55 S=TS
15 SZE= S=s=0 SaAGE ===9 S=0o1
=ik Sqa4=1 =S=9= E=1=3=h 1} =1 =1 = 3=] SSEZ
=24 =T S | S4a455 SE10 553535 =T i §
=i Sa=1 == h =1 S4a4S= =T1= SE1S
== =SSS Sa4SS S=400 =1 =1 = =4 =573
AN SaSs= Sa=1 S=Ta ==l = =] =A==
L =4 S54= S4=T ==17T =S5=9 S55=
=i S5 s59= === SE93= Sa1=
== =SSOoT I=1=1=1m] S=Toa Sa== SEOT
(=18} STOos SE5== =R L= SS=0 ===9
L= 1= =651 S545 55135 5595 S535=2T
T SEE5 SaS= == == S=T= S5
= Sas=E =541 SEEO S50 SB=1
B b= 1 Y S5=4 ==T1 SES= S=as
E=1=4 S54T Sa4== SEES S04 =7ToOl
=10} S4535 5511 55165 S5=9 S=90
b= =4 S4T= =] =1y SS54= ==T1 =S5-9
Type 6 Radar Waveform_25
r:oe Ry |© 2 = = <
(8 ] =S1s SE1T S=9a0 SZ== S=o=s
= =S99z =417 S49= =ST1T SS==
1 SaE0= S=S= SaT3a S&a=4 ===
1= S=S0 E=1=1mhr =1 = =] S==4 S=a0
=i Sa=9a S4a4a1 SE== S=5= SSES
=24 =3=11 Sa40= S==5 SE=93a Ss0s
= S=a95s E=1=1=1ra S4093 S45= S=SSsa
F= SS0T SBZT 54491 S5455 S5E55T
<Lk SS5SE55 === m | S=E5= =ST1= SEQS
R 84 =540 E==d = 1= SSaoD S400 SeO0
=i SS0sS =5=1 SS5= S&T1 S=40
= =404 =T1i0 S=5=4 SZ0O= S==4
(=18} =T1ls S=Ea SETE Sa4Ez= S5Ta
[ =14 Ss=a5s E=1=1=1-1 SSa= =714 S54S
T SE635 =361 S=TTT S=T4a Sa5a5
T S=8T SS51= SS17T S=a= S55=
Hix S=Z85S S=Zc9a S5T== S4a9a =l = B Y
E=1=4 L= = S55= S=E== S4193 S5==
=18} SaA=s =a=1 S=ZET SS=a ST1z=
b= =4 =521 =211 Sq49= S4=0 S5=5

131 of 195




: Report No.:2202RSU047-U7
Type 6 Radar Waveform_26
I:ict tanzy |© i = = =
(5 ] S=a= ===1 (=g m =S4a9 SSO=
= S4=- S54= SS5ES Sa0= ===1
10 Sa4E565 s517T =20 =pe b ==17
1= = e Sa=4 =SSTS S4a=9a S=Z0T
=i =S40 =1 =T=4r g S&TO S=Ts SSE0s
= 5577 sS=254 5541 ==l S 55359
=i S5=T =SST= SE55 SEE5T SEO=
5= s=9a1 === =510 =359 S5==
<A SaSs0 S4as1 S=59 SEaTS S4AS=
L 8= SESS === § ===1 =S=T= ==91
=i 5495 S4a491 SBE556 S4a=0 SEZ23
== =S50 =s=91 S=Z51 SESS Sag=
(=18} =400 (=1 = 1= =557 Saaa S=0=
[ =14 SEES S&a4 S45S SE5=5 =441
T S=7T0 =1=Pc 1= L= i=124 sS==1 Ss=01
= S545= S53=5 SZE5 =559 =713
E=1n] == =p=1=1-7 S1415 S5== Sa4=T
8= (= == =s5=4 Sa456 sS5=3= ===
=10} S=a= ==11 SEOS =S4T SEOT
b= 1= SE4= S=10 =SS1= S5ST SS9
Type 6 Radar Waveform_27
Fr egmemn oy o a = = -
T i=+ (MAH=I
[ n ] =SS55= Sa=0 SEa=ST SE1= S=S0
= S4a4TE =] = SE4= == == s555
10 =587 SSE505 SES5 sS40 S55S
1= SSEE SEE4 SETS =47 ==a99
= =S545 SEag95 =&11 S==1 S48
== SsS=1 == =1 S=T= S5T= ==7Ta
= S4a8= S5=5= ==10 S515 SE5=5
5= S5== SETS Sa== E=t=4 =1 ==91
LN SE15 SSSS =ToOo1 SESE Sa0=
b 8= ==ty SS55 ST1E S51 4 = = =
= =30 =SS4as L= B ey === e =355
== =saTa S&10 =sS=1 ST=E0 Sa=9a
(=98] S=25= ===0 SZ2ZE3= =a44= =40=
[ =1=4 Sa=9a S=5S SO0 Sa4=T S=ToO
s S5S353855 S6ESS 53735 S4a4=5 S54Ts
T= =SS1s SSo- SSOoO E=1=3=1m] Sa5sS
i 551656 5535 5541 S=2E= SS90
E=1=4 S=595 sSa=1 = A =] E=1=3=1=] =saS1
k=15 SEBEZE SB=235 S5350 5591 S=9=
b= L= S4a0= =711 Sa4S= E=t=1=4ra S=T=
Type 6 Radar Waveform_28
rize tmuzy |O z = = <
(8 ] S5== S5S4 =SSTS S=g9 =SS=TO
= =SS1s === =] =ST1S SE=4 S=9a0
A1 S=as L= Bt =] =] ==l =17
1= S515 SE505 Sa== S591 =S5355
= =3ST =S55= S=54 SE2SE =SS=0
== S4aT= S&0T =551 S=S0O sSS==
= == S S6=0 S415 S4=55 S4a405
== ===} =1 =g=1=1] Sa=9a E=p=] == S=5=
LN S4a4=4 5535 S549 S5TT SE6ET
A= S4T=S SE5S5 =T=1 Sa9= SaT1
=i 5557 S56= S=a5s 535S SB3S9
== Sa9= =571 I=1=1=1 8 SET=E Sa3=T
(=18} SBE=Za 5527 5561 S5z 52T
[ =14 =710 =S==1 SS55 S41= S=5T=S
T =0 i = S=4a5 SE49 L= g sS545
TD Ssa=1 S==T S==1 S=Ta =sS=1
Hix 53513 == = =y =719 L=1="r= | Sas0
8o SSSS =587 SEaST SsS19 =541
= 1n ] SEI=Z= SsS=5= Sa4=5 SE4O ==t =1y
b= =4 =SSTS ==7T1 SSOS= =5=1 ==TT

132 of 195




Report No.:2202RSU047-U7

Type 6 Radar Waveform_29

it tansy | i = = =

(8] === 1=1 SsSa=5= SSo9 L=t N ] S41=
= =1 = 1= ==11 =S=15 S==2= === K 3
10 Sa0T Sa56 Saas LT N s § SSS0
1= Sa0%S S S0 =457 S40S
=4 8 | L= S s5553= L=1=t=]m] L= B L= SOz
== sS519 S35z S5TS SETT S541
=0 L=1=1=1m | S33T L=1=% B= == S ST16E
=S L= e e ) S511 SaTT SES9a L=1=2=1h §
RN S5416 Sa445 5307 53567 S6a09
A S=ZSs0 S3a65 Sa41S ==5T SZa0
=i 5720 5350 5435 5425 5544
== L= =1 = =111 SaS5S =515 E=1==d =
[=1 =] S455 S5 S5S0O5S S=5a S517T
[ = 1=1 S5566 S-S0 Sa4TS =S=5T =51
T 535135 SEO1 S53=9 Sade 5551
= SS5=Z-1 Sa03sS SaaS SEaT E=ed S =
80 L= = =SE=T === L=E B A Y =SE=1
E= 1= SS10 =719 S-a=1 =415 L= ==
=1 ] === = =g Y =a=0 =71 S50
b= =4 SE55S S&aT7T0 =1 = 0= L=l S SN S&a40

Type 6 Radar Waveform_30

Fr egmemn oy o a = = -

T.i =1 A=

[0 ] S=7T1 L= T= S445 sSa=1 L= =
= =S =1Le= ==== ==a= L=t B = ==
1 S55S ST=0 SS08 == = Sa01
1= Se9= I=1=arg .} =512 (=1=1ulm | == =
= SsSa== S5551 =457 SEaTS S=a10
== =353=1 S3E05 = = =g L=arg s b § s5T=
= SaS0 SESS S55S SE5EE SS=0
5= SZ=5T Sa45ST =SS0 S5T% sT==
“An SaT0O SS9S =S40 S515 S=asS
8= =1 == =511 S501 E=1=%= 1= S=T1
= == ara =] 5355 L= ="hr i § L= L="hr s =
=11 S=ZTT S35 T =555 S S3T7T5
[ =98] S5516 L=1=1=1=4 L=t=d=]m] SS54aa Sag9=
[ =1=4 S517T =ST135 S4S5= L= g = SS00
T 5655 5313 5335 ST 570z
T= SZ6= S&10 =ped SR =] SS0OT S515
E= 0} 5360 5375 S400 56TT 5551
8 S55T S5l =ToOs E=1="0 S=ZTS
p= 18] S=gE SE9DS SE40 SE0OT ST7T14a
b= L= Sa45= ST1S =257 SaE55 SE-1T

133 of 195




|
T

VT4

Report No.:2202RSU047-U7

Test Site WZ-SR4 Test Engineer Jake Lan
Test Date 2022/05/07
Test Item Radar Statistical Performance Check (802.11ax-HE160 mode - 5250MHz)

Radar Type 1 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5250 1 16 5306 1
2 5305 1 17 5308 1
3 5269 1 18 5310 1
4 5271 1 19 5265 1
5 5276 1 20 5322 1
6 5294 1 21 5261 1
7 5297 1 22 5293 1
8 5323 1 23 5313 1
9 5265 1 24 5323 1
10 5321 1 25 5257 1
11 5274 1 26 5256 1
12 5289 1 27 5316 1
13 5326 1 28 5259 1
14 5279 1 29 5317 1
15 5290 1 30 5329 1
Detection Percentage (%) 100.0%
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Radar Type 2 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5329 1 16 5285 0
2 5268 0 17 5253 1
3 5323 1 18 5262 0
4 5299 1 19 5268 1
5 5266 1 20 5290 1
6 5254 1 21 5279 1
7 5265 1 22 5309 1
8 5263 0 23 5261 1
9 5308 1 24 5301 1
10 5261 0 25 5263 0
1 5306 0 26 5262 0
12 5308 1 27 5294 0
13 5303 0 28 5306 0
14 5312 1 29 5300 1
15 5278 1 30 5250 1
Detection Percentage (%) 63.3%
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Radar Type 3 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5290 1 16 5283 1
2 5323 0 17 5318 1
3 5269 1 18 5277 0
4 5259 1 19 5254 1
5 5329 1 20 5267 1
6 5269 0 21 5271 1
7 5282 1 22 5288 1
8 5317 1 23 5306 1
9 5308 1 24 5302 1
10 5273 1 25 5315 1
11 5279 1 26 5320 1
12 5250 1 27 5265 1
13 5285 0 28 5271 1
14 5321 1 29 5267 0
15 5306 1 30 5329 1
Detection Percentage (%) 83.3%
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Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5329 1 16 5260 1
2 5319 1 17 5280 0
3 5279 1 18 5258 0
4 5258 1 19 5265 1
5 5268 1 20 5264 1
6 5278 1 21 5272 1
7 5282 1 22 5273 1
8 5258 1 23 5314 1
9 5293 0 24 5278 0
10 5327 1 25 5302 1
11 5290 0 26 5276 1
12 5276 1 27 5257 1
13 5314 1 28 5297 1
14 5313 0 29 5271 1
15 5277 1 30 5250 1
Detection Percentage (%) 80%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar

test waveforms is as follows:

P1+P,2+P,3+P4

4

= (100%+63.3%+83.3%+80%)/4 = 81.7% (>80%)
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Type 1 Radar Statistical Performance

. Radar Ll 5e Humber of L 0
Trial Id Type 'iéld;.h PEL (us) Pul=zes I(.::rT%th
us

Download 1] Type 1 1.0 T, 0 BT 53466, 0
Download 1 Type 1 1.0 935.0 a7 93466, 0
Download 2 Type 1 1.0 TT8.0 B 5z24904. 0
Download K] Type 1 1.0 T55. 0 Ta S3060. 0
Downlaad 4 Type 1 1.0 G55, 0 g1 53295.0
Download 5 Type 1 1.0 g75. 0 A1 33555, 0
Download ] Type 1 1.0 g1g.0 B5 53170.0
Download T Type 1 1.0 G55, 0 Bz 53196.0
Download g Type 1 1.0 B15.0 56 53145.0
Download 3 Type 1 1.0 555, 0 95 53010.0
Download 10 Type 1 1.0 915.0 55 53244.0
Download 11 Type 1 1.0 5T5.0 a2 531TE. 0
Download 12 Type 1 1.0 B35, 0 g3 52954, 0
Download 13 Type 1 1.0 895, 0 54 S2952.0
Download 14 Type 1 1.0 515.0 102 SZE56. 0
Download 15 Type 1 1.0 ggz.0 B0 S2920. 0
Download 16 Type 1 1.0 2531.0 21 53151.0
Download 17 Type 1 1.0 1303.0 41 53423.0
Download 15 Type 1 1.0 1036. 0 a1 SEE56. 0
Downlaad 19 Type 1 1.0 g94.0 B0 53640.0
Download 20 Type 1 1.0 2196.0 25 S4900. 0
Downlaad 21 Type 1 1.0 1887. 0 28 S2556.0
Downlaad 22 Type 1 1.0 1142.0 4T 36740
Download 23 Type 1 1.0 2563.0 21 53949.0
Downlaad 24 Type 1 1.0 1453.0 3T S3TE1.0
Download 25 Type 1 1.0 2175.0 25 543750
Download 26 Type 1 1.0 Ba1.0 TT 53207.0
Download 27 Type 1 1.0 17T45.0 31 54085, 0
Download 23 Type 1 1.0 1915.0 28 S3620. 0
Download 29 Type 1 1.0 1572.0 34 53445, 0
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Type 2 Radar Statistical Performance

. Radar e Humber of LICE 07
Trial Id Type I{ld;h PET f(us) Pul=zes IE::%th
us
Download 1] Type 2 4.7 21z2.0 29 BE145.0
Download 1 Type 2 1.6 153.0 24 JBTE.0
Download 2 Type 2 2.6 230.0 25 STs0.0
Download K] Type 2 3.6 169.0 2T 4563, 0
Download 4 Type 2 3.2 182.0 26 4T32.0
Download 5 Type 2 3.2 1a0.0 26 4840, 0
Download ] Type 2 3T 151.0 27 40°7T. 0
Download T Type 2 1.7 155.0 24 ITRE.0
Download g Type 2 1.9 167.0 24 4005, 0
Download 3 Type 2 1.6 156.0 24 3T44.0
Download 10 Type 2 1.4 1Tz2.0 23 39560
Download 11 Type 2 3.9 159.0 27 S103.0
Download 12 Type 2 2.5 Z05.0 5 Sz00. 0
Download 13 Type 2 1.1 158.0 23 4324.0
Download 14 Type 2 2.6 1T5.0 25 4450.0
Download 15 Type 2 4.9 224.0 29 B496. 0
Download 16 Type 2 4.1 165.0 P 4704, 0
Download 17 Type 2 2.7 157.0 25 3925.0
Download 15 Type 2 4.1 Z07.0 P T8RO
Download 19 Type 2 1.6 229.0 24 S496. 0
Download 20 Type 2 2.6 z10.0 25 SZ50.0
Download 21 Type 2 4.7 179.0 29 S191.0
Dowrload 2z Type 2 2.5 157.0 26 456E. 0
Download 23 Type 2 4.6 Z14.0 29 BZ206. 0
Downlaoad 24 Type 2 Z.1 150.0 g 36000
Download 25 Type 2 4.5 161.0 29 4E64. 0
Download 26 Type 2 3.4 213.0 27 5751.0
Download 27 Type 2 1.7 Z03.0 24 45720
Download 23 Type 2 4.9 150.0 29 S220.0
Download 29 Type 2 2.2 zZ01.0 5 S025.0
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Type 3 Radar Statistical Performance

) Radar Faol=e Humber of ffaveform
Trial Id Type 'iéld;.h FRI (usx) Fulses I(.en§t]1
us us
Download 1] Type 3 9.7 364.0 15 B552. 0
Download 1 Type 3 B.B 295.0 16 4720, 0
Download 2 Type 3 T.B 379.0 1T B4, 0
Download 3 Type 3 8.6 239.0 17T 4913.0
Download 4 Type 3 g.2 473.0 1T Gl43. 0
Download 5 Type 3 g.2 465.0 17T Ta0s5. 0
Download ] Type 3 8.7 492.0 15 G596, 0
Download T Type 3 B.T 497.0 16 T952. 0
Download g Type 3 6.9 Z57.0 16 4112.0
Download q Type 3 B.B 341.0 16 5456. 0
Downlaoad 1a Type 3 G.4 2460 16 3936.0
Download 11 Type 3 8.9 411.0 15 T35, 0
Download 12 Type 3 T.5 353.0 17T BOO1. 0
Download 13 Type 3 B.1 463.0 16 T405. 0
Download 14 Type 3 T.B 291.0 17T 4947. 0
Download 15 Type 3 9.9 357.0 15 B4z6. 0
Download 16 Type 3 .1 290.0 15 S220.0
Download 17 Type 3 T.T 300. 0 1T 5100, 0
Download 18 Type 3 9.1 304.0 15 54720
Download 19 Type 3 B.6 474.0 16 To54. 0
Download 20 Type 3 T.B 439.0 17T g313.0
Download 21 Type 3 9.7 452.0 15 G136, 0
Download P Type 3 T.8 226.0 17T 38420
Download 23 Type 3 9.6 3065, 0 15 a544. 0
Download 24 Type 3 T.1 292.0 16 4672, 10
Download 25 Type 3 9.5 235.0 15 4754. 0
Download 26 Type 3 8.4 3TT.0 17T B409. 0
Downlaoad 27 Type 3 G.7 3070 16 4912.0
Download 28 Type 3 9.9 471.0 15 g475. 0
Downlaoad 29 Type 3 T.2 J23.0 16 SE43.0
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Type 4 Radar Statistical Performance

) Radar Faol=e Humber of ffaveform
Trial Id Type Hi1dth FRI (us) Pulzex Length

(as) (us)
Download 1] Type 4 19.2 3E4.0 16 5524.0
Download 1 Type 4 12.5 295.0 12 3940, 0
Download 2 Type 4 14.6 379.0 14 5306 0
Download 3 Type 4 6.7 239.0 15 4335.0
Download 4 Type 4 15.5 479.0 14 BTOG. 0
Download g5 Type 4 16.0 485.0 14 B510.0
Download ] Type 4 17.0 492.0 15 T3E0.0
Download T Type 4 12,7 497.0 12 S964. 0
Download g Type 4 15.1 257.0 13 J341.0
Download q Type 4 123 341.0 12 4092, 10
Download 10 Type 4 12.0 246.0 1z 2952.0
Download 11 Type 4 174 411.0 15 B1ES. 0
Download 12 Type 4 14.5 353.0 13 4559. 0
Download 13 Type 4 11.2 463.0 12 5556. 0
Download 14 Type 4 14.7 291.0 14 4074. 0
Download 15 Type 4 19.7 35T7.0 16 5712.0
Download 16 Type 4 17.9 290.0 15 4350. 0
Download 17 Type 4 14.5 300. 0 14 4200. 0
Download 15 Type 4 17.9 304.0 15 4560. 0
Download 19 Type 4 124 474.0 12 SE35. 0
Download 20 Type 4 14.6 453.0 14 BE46. 0
Download 21 Type 4 19.3 452.0 16 TZ32. 0
Downlaoad 22 Type 4 14.9 Z26.0 14 31e4.0
Download 23 Type 4 19.0 305, 0 16 4925. 0
Downlaoad 24 Type 4 13.4 292.0 13 3760
Download 25 Type 4 19.6 235.0 16 3805. 0
Downlaoad 2B Type 4 16.4 7.0 14 SETE.0
Download 27 Type 4 12 6 307.0 12 3854, 0
Download 23 Type 4 19.5 471.0 16 T536. 0
Download 29 Type 4 155 325.0 13 4764. 0
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5290 1 16 5258 1
2 5290 1 17 5256.8 1
3 5290 1 18 5254.4 1
4 5290 1 19 5256.8 1
5 5290 1 20 5252.8 1
6 5290 1 21 5324.6 1
7 5290 1 22 5321.4 1
8 5290 1 23 5324.2 1
9 5290 1 24 5321.4 1
10 5290 1 25 5325.4 1
11 5252.4 1 26 5321 1
12 5256.4 1 27 5323.4 1
13 5254.4 1 28 5326.2 1
14 5252 0 29 5321 1
15 5254.4 1 30 5325.4 1
Detection Percentage (%) 96.7%
Type 5 Radar Waveform_1
%E;:t o e P E(z:alzi; EEEEZ ;fr PRT—1 PRI—2 C(a=) (PRI—3 Ca=)
EOTS. O a5, = = = 19=0. 0O 195s7T. 0O 156350
=45=295. O 554 19 1 19s5. 0O — —
ZgOsSEeSa. O TO. = 1ia = 14=7. 0 107=.0 —
SSOs0=. O S1.T = = 1TTS. 0O 1445 0O —
TAGZ=TD. O TE. 3 19 = 18575 0 14570 —
ZZE9T1. 0 TT. =S 1ia = 1=s04. 0O 1907 0O —
STS49=. 0 S5 5 = = 1TS9. 0O 1541 0O 1455 0
S3IITOS. O 59. 5 19 1 1009, O — —
SEOO9. O El. & 1ia 1 157TE. O — —
ZOSETE. O ST. B = 1 199=. 0O — —
SB1STS. O S5 6 19 1 1105, 0O — —
S1z=Z211. 0 S5 B 1ia = 1SS5. 0O 1=57=.0 11=4. 0
STO9S. 0 (==Y = = 1T4S. O 1SS5. 0O —
190157, 0O S1.5 19 1 109, O — —
SF1197TS. O TO. T 19 = 1=3==. 0 1T7=3. 0O —
A49F04T. O a5, 1 = = 19793, 0O 1=25. 0O 1SSs7T. 0
1==27a. 0 =50 19 = 1510. 0 1635 0 17TTE. O
1TOTTT. O TO. 3 19 = 14565, 0O 1=S50. 0O —
SEE=TT. O ST. 9 = = 1TE4. O 1845 0O 145=. 0
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Type 5 Radar Waveform_2

Burst Pulse Chirp Humber of
Dffset Width (us) Width Fulzes per |[FETI-1 (us) ([FRT-2 (u=x) (FRT-3 (us)
(=) MHz) Bur=st
907159, 0 5T.7T T 1 1263.0 - -
1196491. 0 TO. 2 T 2 1340.0 1323.0 -
283030, 0 a5. 7 T 3 1994.0 1494.0 1102. 0
STATES. O TZ.0 T 2 1103. 0 19z22. 0 -
865595, 0 Q4. 3 T 3 1391.0 1514.0 1432. 0
1162247, 0 BE3. 6 T 1 1091. 0 - -
253425.0 7.5 T 3 1092.0 1625.0 1603 0
S444035. 0 TA. T T 2 1110.0 1037.0 -
§35397.0 55.8 T 1 14620 - -
1123181, 0 95.5 T 3 1302. 0 1559.0 1355. 0
Type 5 Radar Waveform_3
Bar=st Pul=e Chirp Hamber of
DEf<et Width O 3 Width Fuolses per |FRT-1 (us) |[FRT-2 (os) (PRT-3 f(us)
(ox] * o (AH=] Burst
1B6TTE1. 0 B5. 6 11 1 1559, 0 - -
3593906, 0 =1 =} 11 3 1501.0 1433. 0 157T1.0
B15014. 0 59.5 11 1 1z10.0 - -
S3TES0O. 0 51.9 11 = 1119.0 11=31.0 -
1397TT1.0 §9.1 11 3 15440 1234.0 197TE. 0O
3633450 T1.0 11 = 1386. 0 1223.0 -
555354, 0 1.6 11 3 1952. 0 10z1. 0 1456, 0
507T391.0 9. 3 11 3 1534.0 184Z. 0 1599.0
112TOE. O Bl B 11 1 1TZE. 0O - -
SF35=201.0 95. 13 11 3 1350.0 1412. 0 1801.0
S5TE43. 0 oz.9 11 3 1415. 0 1535. 0 1T139.0
TS3655. 0 59.5 11 1 1010. 0 - -
549150 85.2 11 ] 14280 13430 1519.0
Type 5 Radar Waveform_4
Buor=+t Paol=e Cbirp Homber of
%EE?Et Width Cos) };ﬁ;? g:i::s rer |FRT—1 (o= FRET—Z2 (o<} FRET—3 f(mx]
Z50307. 0 TTr. B 15 = 10040 17TTT. 0 -
451557T. 0 T3. S 15 = 15510 117T&. 0O -
B1OS25. 0 g5, = 15 =] 1594 0 19568, 0 18617T. 0
4BS555. 0 55, 4 15 1 156510 - -
Z25450. 0 B5. 1 15 1 1157T. 0 - -
405925, 0 Q0. 5 15 =] 105668 0 11=1. 0 111=. 0
S900TS. O TS, = 15 = 1Sa0. 0 1370, 0 -
243740 90, 2 15 3 15=1. 0 1=97T.0 15150
ZO0sSs05. 0 B5. 4 15 = 15=1.0 153539. 0 -
SSDSZS. 0 95, 3 15 =] 1199.0 1990, 0 16355, 0
SE9005. O S5 6 15 1 1500, 0 - -
=Z11=. 0 g5, = 15 =] 1105, 0 17394, 0 1109, 0O
15535410 B5. 1 15 1 19&0. 0 - -
SB3515. 0 =09, T 15 =] 11550 1450, 0 167T4. 0O
S44590. O S5, 4 15 =] 127Ta. 0 18659. 0 1075, 0
TZ2TOBZ. O T™S. 9 15 = 10170 1T11. 0 -

143 of 195




ﬁm
W\
Il

/
|

G
I‘ Report No.:2202RSU047-U7

Type 5 Radar Waveform_5

Bor=st Fal=e Ebirp Humber of
DEf=sat Width Ca=) Width Puolses per |[FRT—1 (a=] FPRET—2 (u=s]) PRET—3F C(oaxs)
(o= (MH=) Burst
1542130 651 13 = 12730 1005, 0 -
909310 T9. 4 13 = 1TS=Z. 0 1T35. 0 -
S9TEEQ. 0 a5. 1 135 <] 1034, 0 1444. 0 15&50. 0
S0533T. 0 T4. T 13 =2 10z20.0 1595. 0 -
153305, 0 &60. 5 13 1 1559. 0 - -
ZBS3EST. 0 g6, 1 135 <] 14050 1309. 0 1050, 0
ST3TT1.0 S9.1 13 1 183z, 0 - -
TTSSEZ. 0 a8, 1 13 = 12300 1961. 0 101e. 0
1332740 53. 6 13 1 13940 - -
340066 O 80, 4 13 = 19630 13240 -
S4TS51.0 S0, 6 135 = 11000 11=5. 0 -
TS39S3. 0 T9. 2 135 = 191z 0 igg9. 0 -
107706, O 51.2 13 1 14190 - -
3145690 TG. 4 13 = 173z 0 1464 0O -
Type 5 Radar Waveform_6
Bor=+t FPal=a Cyirp Huomber of
ODOff=at Width C(a=) Width Puol=s=e= per |[FRT—1 (a=) |[FRT-—2 (a=s) (FRT-—3 C(a=])
(o= (MH=) Buour=+%t
A4SBEEO=. O TTr. 1 1= = 154=. 0 1651. 0 -
BTS497T. 0O a5. 1 13 = 12550 19330 13130
TEISO. O a5, 3 1= =] 153==. 0 150&. 0 1165. 0
ZE90TS. O 85.1 1= 3 17Tag. 0 153=.0 1509, 0
48235 T. O a5, 0 135 = 1455, O 1ToOE. O -
BESzZ90. O a5, = 1= S 1904, 0O 1359.0 10s1. 0
S2ESE. 0 a3, 2 13 = 19Z7T. 0 1TS4. 0 137T9.0
Z46495. O 55. = 1= 1 1569. 0 - -
4F9EST. O 51,35 1= = 1z254. 0 1570, 0 -
B315330. 0 59. 5 135 <] 1sa5. 0 1395. 0 16240
Z5S354. 0 S5, T 1= =] 107&. 0O 1591.0 1T47T.0
29SO 55. 6 1= 1 1161. 0 - -
414558, 0O aT. 2 135 <] 1230. 0 1357T.0 15220
BO9STL. O s0. 3 1= 1 1564. 0 - -
SOs4. 0 SO, 13 1 1es0. 0 - -
Type 5 Radar Waveform_7
Buor=+ Pal=e Cbirp Homber of
DEf=eat Width Ca=) Width Fulses per |[FRT—1 Coa=] FPREI—Z2 (oax) PREI—3F (oaxs)
Ca=) (MH=) Buor=st
155=254. 0 S5, 5 15 =] 15=24. 0 1954, 0O 19=5. 0
SETIIZ. 0O TS, 0O 15 = 1455, 0 147T&. O -
S45Z59. 0 TL. 5 15 = 17Ta6. 0 1z19. 0 -
TI1O085. 0 5501 15 1 1335, 0 - -
163TIZ. 0 T1.0 1% = 1zs=.0 108z, 0 -
S440556. 0O 95. 6B 15 =] 1S5T. 0 1567T. 0 1005, 0
SZT301.0 Bd. 4 15 1 1056, 0 - -
TOSSEE. O 94. 9 15 3 i1s7T1.0 14=4. 0 1291.0
140945, 0O S4. 5 15 =] 1055, 0 19=2=. 0 1S54=. 0
SFEEZST.0O T4, 4 15 = 1945, 0 1535, 0 -
SO3S5Z. 0 S1.6 15 = 115s9. 0 195=. 0 -
BSST41.0 54T 15 1 195=. 0 - -
119168560 SO, o 15 1 15=z9. 0 - -
SIO0S3S1.0 S4. T 15 1 1305, 0 - -
4503500 &S5. 5 15 S 1145, 0 15375.0 1965, 0
BEISES. O 59. 7T 15 1 1Tao. 0 - -
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Type 5 Radar Waveform_8

Bur=st Pul=e l:l_:l.:i.rp Humber of
ODffset Width (us) Width Fulsex per |FRI-1 (u=s) |[FRI-Z (ux) ([PRI-3 (u=s)
(ax) (MH=z) Bur=st
154772, 0 94.0 g 3 1332. 0 1262.0 1zg9.0
444913. 0 539.0 g 3 1156.0 1575. 0 1035.0
T35099. 0 az.1 5 3 1435. 0 1040, 0 1z00.0
10z268135. 0 T1.1 5 z 1505. 0 11z9.0 -
119266, 0 B3, & =1 1 1679. 0 - -
A05TET. O a7. 9 =1 3 1192. 0 1977.0 1512. 0
BI9E535. 0 g51.1 =1 2 1416. 0 1757.0 -
IOSTZ. 0 S51.7T =1 2 1220.0 1167.0 -
g3244. 0 855. 3 =1 3 1190. 0 1782.0 1901.0
373907, 0 TT.8 =1 2 1252. 0 1007. 0 -

Type 5 Radar Waveform_9
Buarst Pol=e l:]_l.irp Hamber of
Offset Width (as) Width Ful=zes per |FET-1 (us) ([FRI-Z (us) |[PRT-3 (u=s)
(a=] (MH=z) Bur=t
BO4255. 0 BZ. 5 G 1 1551.0 - -
SEE389. 0 a95.1 S 3 1459. 0 1475. 0 12450
43345, 0 53.5 G 1 1152. 0 - -
S08441. 0 59,1 ] 3 15307.0 1561.0 1TBE. O
ST1550.0 S5z.1 G 1 1915. 0 - -
833630, 0 95. 9 ] 3 1471.0 1664, 0 1367T.0
10791.0 55.8 S 1 1420.0 - -
2T4159. 0 a95. 2 G 3 1697.0 124Z2.0 17aT. 0
S5358596. 0 BET.4 S 2 1410.0 1355.0 -
S034035. 0 5T.3 G 1 1545. 0 - -
1087503, 0 S92 ] 1 1655.0 - -

Type 5 Radar Waveform_10
Barst Palze l:]_xirp Homber of
Dff=zet Hidth (us) Hidth Fulzes per |FRI-1 (us) |FRI-2 (us) |[FRI-3 (ux)
(u=) (MHz) Burst
296036, 0 1.1 T 2 1857.0 1314. 0 -
B13535. 0 0.2 T z2 1207.0 1457. 0 -
941520.0 52. 5 T z 11z0.0 1255.0 -
12855230 B2 T T 1 1423.0 - -
Z5BES4. 0 50.1 T 1 1z04.0 - -
S5T9R9T. 0 B3 4 T 1 1365.0 - -
90z3TT. 0 B0 T T 1 1903, 0 - -
1222567.0 86.5 T 3 1149.0 1993. 0 1721.0
Z1B8307. 0 §3.9 T 3 1371.0 1534. 0 1564.0
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Type 5 Radar Waveform_11

Barst Pulse Chirp Hamber of
Dff=zet ¥idth (as) Width Fulzexs per |[FRI-1 (u=) |FRI-Z (ux) (FEI-3 (us)
(us]) MHz) Bur=t
538605, 0 ag.1 & 3 1892.0 1233.0 1450, 0
SBZES5. 0 50.5 G 1 17T74.0 - -
1183205. 0 g5, 5 B 3 1246.0 1939.0 13130
176340, 0 T4. 5 & 2 1111.0 1930.0 -
493534, 0 a1.7 & 3 17589.0 1267.0 1717.0
g22484. 0 B9 T G 2 1206.0 1250.0 -
1146093 0 551 B 1 1495.0 - -
137T121.0 T4, 2 & 2 15493. 0 1341.0 -
459125, 0 a7.3 G 3 17T33.0 157T.0 1459.0

Type 5 Radar Waveform_12
Boar =it Pol = C]_nirp Homber of
%ﬁiget Width Co=) '(;ii[;? gz;:s per |[FRT—1 (o= FRT—Z f(mx] FRET—3 (m=<)
41z485. 0 a7T. 3 16 = 1130, 0 1537, 0 162, 0O
SEES44. 0 az. 0 16 = 10SE. 0O 100z, 0 1317. 0
S1339. 0 =9, T 16 = 1G@EE. O 1zz4. 0 13Z4E. 0O
ZZ1TaS. 0 BE. S 16 = 123, 0 1457, 0O -
Q1045 0 az. = 16 = 17S1. 0 1707, O 109, 0
SEI1Z25. 0 0. T 16 = 107z, 0 1598, 0 -
I0S10. 0 BE. 3 16 1 1519, 0 - -
ZOOBIS. O i 18 = 1@m0a. 0 1081 .0 111, 0
STOTEL. O as. = 18 = 1za3. 0 1852, 0 1053, 0O
S41BST. 0 TZ. = 18 = 1zaE. 0 19ET. O -
Q4450 2. T 18 = 1EE0. 0 1855, 0 -
180355, 0 555 18 1 i1zas._ 0 - -
S50951. 0 S54.3 168 1 1is7T4. 0 — —
SZO0197T. 0 (== =] 18 = 11Z5. 0 1090, O 180, O
EQ1STE. O = 18 = 11=z=. 0 15=Z0. 0 —
153z9=. 0 (= m . = 18 1 1=45. 0O — —
SEZg944S. 0O B3. 9 15 = 1595, 0 i1191. 0 —

Type 5 Radar Waveform_13
Bar=st Pul=e Chirp Homber of
Dff<set Width O 3 WHidth Fuolses per |[FRT—1 (ws) |[PRT-2 f(us) |[PET-—3F (us)
(axs) * = (MHz) Buarxst
BES5R15. 0 58.T 11 1 1153. 0 - -
STSBSE. 0 59. 2 11 1 1T2=.0 - -
130315, 0 55.4 11 1 1602, 0 - -
404525 0 B34 11 1 10930 - -
BZSTTE. O 54.5 11 hc] 1151. 0 1473, 0 19320
S504TS. 0 T™Q. 3 11 2 1154. 0 13110 -
152637T. 0 a5. 3 11 ] 1B83T. 0 1590, 0 19510
3TES0O1. 0 54.5 11 1 1536. 0 - -
5993546, 0O 3. 5 11 = 1944, 0 10820 -
824231 .0 B2. 3 11 1 10a0. 0 - -
125732, 0 525 11 1 1354. 0 - -
3456833, 0 TS. T 11 =2 1554. 0 164T. 0 -
STO4TS. 0 a97. 4 11 3 1T=9.0 1786, 0 1T15. 0
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Type 5 Radar Waveform_14

Burst Pulse Chirp Houmber of
Dff=et - ¥idth Pulzes per |[FRI-1 (us) |[FRI-Z (us) (FRI-3 (u=)
¥idth (us)
(us) (MHz) Burst
12935140 2.5 5 Z 1425.0 1574.0 -
159390, 0 93.8 5 3 1966, 0 1125.0 1709, 0
DEZBR9. 0 AT o i 1140.0 1536, 0 -
SEB359. 0 aT.8 5 1 1870.0 - -
1245965, 0 g1 5 P 1297.0 1491.0 -
114955. 0 B5. 4 o 1 1T13.0 - -
47TTBE4. O B9.5 5 Z 1941.0 1888, 0 -
841855, 0 aT. 2 5 1 1422.0 - -
Type 5 Radar Waveform_15
Buor=st FPal Chirp Homber of
Offset S e (us) |Hidth FPulses per |[FPET—-1 f(us) |[FEI-2 (us) |[PRI—3 (us)
{a=s] * — MMz} Buor=s+t
TIBE16. 0 7.0 11 3 1605. 0 13640 1TaE. 0
43179.0 521 11 1 1451. 0 - -
ZES435. 0 96 4 11 3 1970, 0 1902. 0 1964. 0
490094 0 E3. 8 11 1 1700, 0 - -
T1Z27T20.0 ET. 6 11 z 1802, 0 11730 -
15599. 0 88.5 11 3 1520.0 1BZ2. 0 1152.0
239095, 0 53T 11 1 17T44. 0 - -
462033, 0 TT.6 11 z 1513. 0 1255. 0 -
ES3TES. O 93.1 11 3 1958, 0 1163.0 1619.0
Q0asE9. 0 B3 T 11 1 1361.0 - -
Z11457. 0 ET. 1 11 Z 10890 11849.0 -
434522 0 T9. 3 11 z 1415. 0 1389, 0 -
BSTE40. 0O T1.8 11 z 1435. 0 1474. 0 -
Type 5 Radar Waveform_16
Bor=1+t Pol = l:l_xirp Hoamb axr o F
l%igﬁet Waidri Coas=) 'I'(;]c}:?. gﬁ::s o ex FRT—1 o= FRT = o= FRT—3 =7
STZ27T=T.0 EO. 9 =0 1 1S3 0 — —
11s904. 0O a5, 9 =0 = 1zZz65. 0 19=0. 0 1S7=.0
EaISOS. 0O TO. S =0 = 17550 1207. 0 —
405541 . 0 TS, S =0 = 1==6. 0 1TES. O —
5554356, 0 55,3 =0 1 1054 0 — —
10155=. 0 TL. & =0 = 1==1._ 0 1012, 0 —
=ZASSSES. 0O a4, 5 =0 = 1=Z=9. 0 17TS0. 0O 14=93. 0O
Sal199a. 0 E=Z.0 =0 1 145=. 0 — —
SITO9S. 0 [= b= =1 =0 1 1SsSo. o0 — —
SESTS. 0O BS. S =0 = 19=a._ 0 1155, 0 —
=EZSsS5=. 0 BS. T =0 1 1TEO. O — —
SITA4ST=. 0 =5T. 6 =0 1 10770 — —
S1e5S95. 0 p=1= - 3 =0 = 1SS, 0 1=1=. 0 137sS. 0
BESESO. O E=3= =0 = 1=Z0S. 0O 1=2=7.0 10==. 0O
=Z10141. 0 SS9, 0 =0 = 14=1._0 115=. 0 15565, 0O
Ss5004. 0 TE . = =0 = 1a=9. 0 15=7T. 0 —
499337 . 0O 27, 1 =0 = 1=s94. 0 11S5sS. 0 10=5s. 0
AS010. O S5, T =0 1 15510 — —
1930==. 0 &S, 0 =0 1 199s. 0 — —
SET49S. 0 =1.0 =0 = 1055 0 19=1. 0 —
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Type 5 Radar Waveform_17

BFor=s+t Pal =a Chirp Homber oif
DEfset Widtih Coa=) Width Pul=es per |[FREI—1 Coas ] PREIT—2 (oax] PREI—3 Coax]
o=l * (MH=D Buor=st
SEa94350. 0 B 6B 1T 1 1019, 0 - -
=5S414. 0 T1L. 5 1T = 17T55. 0 131=.0 -
2083545, 0 5T.1 1T 1 144=.0 - -
SITE94T. 0 B=. 1 1T 1 190s. 0 - -
S4E0TZ. 0 949, 7T 1T =] 1495, 0 1325. 0 115=. 0
14410, 0O [T~ =] 1T = 1TT=.0 17TO=. 0 -
1547T7TS. 0O S1.49 1T = 1451. 0 19T, 0 -
SS4556. 0 g91. 6 1T =] 1505 0 1595. 0 149=. 0
SEE1ZE. 0 TT. S 1T = 1319. 0 1z90. 0 -
B945565. 0 S5, T 1T =] 1400, 0 15=27T.0 1z=a. 0
1635654, 0 95T 1T =] 1z44. 0 1861=.0 1041 . 0O
S33499. 0 =555 17T = 17220 12560 15410
SOo4008. O L=1= = 17T = 1z49. 0 1547, 0 1059, 0
ETS=Z44. 0 TS, & 17T = 17Tas. 0 1=27TO. 0O -
1427T7TZ2. 0 T1L. S 17T = 17Ts0. 0 15250 -
Slzail4. 0 a7T.9 17T = 17TT1.0 1S37T. 0 107TS. 0O
4S4SeS. 0O SS5.9 1T 1 1507, 0 - -

Type 5 Radar Waveform_18
Burst Pol=e Chirp Homber of
OEfEf=et - Width Pulsexs per |[PRT—1 (u=s) |[PET2 (us) |[PRT-3 (axs])

Width ]

(ax=) * = (MH=z) Bur=t
S55E868. 0 S4.0 11 = 1044 0 118e0.0 1954, 0
159506, 0 6. T 11 = 000, o 13250 -
SIEZE55.0 93,9 11 = 1177.0 1259.0 1651.0
BOSSSZ. 0 5.1 11 = 1656. 0 17T7a.0 -
SEZBSZ1. 0 5. 3 11 = 1942. 0 1587.0 1916. 0
132077T. 0 T3. 4 11 = 1227.0 1TES. 0 -
3549120 53. 5 11 <] 1099, 0 127T2.0 14360
STE445. 0 52 6B 11 = 1740, 0 11430 -
SO0ZT45. 0 56.1 11 1 1593, 0 - -
104555, 0 [=1= I 11 = 17T41. 0 1285, 0 -
SZRS21.0 95. 5 11 3 1955. 0 15000 1T54. 0
S551TES. 0 B4. T 11 1 1525. 0 - -
TTSETE. O S51.3 11 1 1046, 0 - -

Type 5 Radar Waveform_19
Baor=+t Pal Chirp Homb er oif
Off=et Width Ca=) |Hidth Ful=e= per (FPET-1 C(os) |[PEXT—2 (as) |[PRET—3F C(as)
a=) = — (MH=) Bor=st
SSTTS. 0O a5 1 17T ] 1497T.0 1=74. 0 1745, 0
Z29959. 0 [= = =] 17T 1 12050 - -
400591 . 0 S4. 0 17T 1 16SS. 0O - -
SBESS561.0 5.3 17T ] 1275, 0 15720 156435, 0
SITOGS. 0O 59,2 17T 1 15450 - -
20793510 [=1= -] 17T = 16060 1Tas. o 11850
ZTSEZ99. 0 [S 1S 17T b= 15290 1Z10. 0 1035, 0
SSO3TT. 0O S5 6 17T 1 1544, 0 - -
15915 0 TE. = 17T = 14=4. 0 1=71. 0 -
1869110 [=1 = 17T = 1701._ 0 1047, 0O 19990
ZSTE9T. 0 [S 0= I =] 17T b= 17240 1245, 0 11150
SEg9116. 0 Sz.49 17T 1 1940, 0 - -
BaTZ0Z. 0 545 17T ] 117T=.0 1saT. 0 15z29. 0
186540 0 TGS 17T = 19520 12130 -
ISTe9ST. 0 [= 1=y 17T = 1=2S6. 0 1459. 0 -
SOTADS. 0O TS, 3 17T = 1145. 0 1T4=2. 0 -
BTI1Z5. 0 S5 2 17T 1 18615. 0 - -
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Type 5 Radar Waveform_20

Bar=t Pul=se Chirp Homber of
Dffset - Width Fulses per |[PRT-1 (u=s) [PRT-2 (u=s) ([FRT-3 (u=s)
Width (a=s)
(us) * b (MH=z) Bur=st
24TB14. 0 TZ. 8 T 2 1395. 0 1441.0 -
S3TTIG. O Ba. Z T 2 1425. 0 1962, 0 -
S2TE42. 0 a1.1 T 3 1235.0 1095. 0 1472.0
1115341. 0 BT.3 T 2 1553.0 1300, 0 -
21213T.0 B3.0 T 1 1214. 0 - -
S01963. 0 an.n T z 1691. 0 1710. 0 -
TIZZ19.0 63,1 T 2 1TET. 0O 1569. 0 -
1054425, 0 55.9 T 1 1146. 0 - -
1Te128. 0 BT. 4 T 2 1526. 0 1022 0 -
4856130 a5, 4 T 3 1555. 0 1301.0 1762, 0
Type 5 Radar Waveform_21
Burst Pual Chirp Huomber of
Off=zet o fa (ax) |Width Fulses per |[FRI-1 C(u=s) [PRI-—2 (us) |[PRI—3 (us)
(a=) * . (MH=z) Bur=st
SS1016. 0 T3.3 11 2 19TS. 0 1939. 0 -
S0s5z40. 0 T™H. S 11 = 15160 1150. 0 -
10TESS. 0 93. 5 11 hc] 12250 1525. 0 1TZE. O
3302570 aT. 6 11 3 18590 1555 0 15400
5543700 53.1 11 = 100&. 0 1810. 0 -
TTTATL. O TBE. S 11 2 1034 0 1106. 0 -
SO3ET. O TS. 9 11 = 1839.0 1240. 0 -
3031470 ad. & 11 e 1z01.0 100z, 0 1331, 0
525231.0 a91. 7 11 3 187TE. 0O 150350 1504 0
T49TTS. 0O 51.5 11 = 13620 187T1.0 -
S2942 0 51.1 11 1 1TS56. 0O - -
Z2TB496_ 0 BE. 3 11 1 1407.0 - -
49926T. 0 824 11 2 1142 0 187T0O. 0O -
Type 5 Radar Waveform_22
%Eiit EEEes BT EE&E? EEEEZ ;efr PRT—1 C(us=) |PRT—2 C(u=) |[PRET—3 (o=l
AO4SZ5. O =9, 1 19 1 156550 — —
17354 0O SO, = 19 1 145=. 0 — —
1TO=1=. 0 S99, S 19 1 1440 O — —
SZl1a41 .0 a0, = 19 = 1=57.0 1=Z=1. 0 1854, O
4T5s591 .0 S4. 1 19 1 1a7Ts. 0 — —
EZEETI. O = 13 = 1989, 0 1495, 0O —
1S1=97. 0 &0, 4 19 1 1404 0O — —
S0O=Z417T. 0 a5, T 19 = 15570 155=. 0 14=7T. 0O
ASToO40. O 4. 1 19 1 1447T. 0O — —
Bl10=55. 0O S4. 5 19 1 1045 0O — —
1=Zi1900. O a5, 0 19 = 19910 1251 .0 1=49. 0O
=2==7T9T. 0 a5, 4 19 = 1=79. 0 1900, 0 1T==. 0
A4=ZT1S1. 0 S0 5 19 = 10=9. 0 1595 . 0 —
Sgolos. O TS. 5B 19 = 11940 1=z5=.0 —
113==9. 0 S4. 1 19 = 1454 0O 13=7T.0 147 0O
=EaSTOS. O S55. 1 19 = 19710 1508 . a0 —
415411 .0 TGE. 9 19 = 1074 0O 1545. 0 —
STOol10=. 0 =4. 9 19 = 1=5=2.0 12=4. 0 11=9. 0
Sadl=. 0O a=. 1 19 = 1S1s. 0 1401 . 0 154, 0O
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Type 5 Radar Waveform_23

Buar=s+t Pul Chirp Homber of
Off=et e (asz) |Width Fulses per |[FRTI—1 (us) [PRT-—2 (us) |[PEI—3 (us)
(as) * = (MHz) Bur=t
3510120 a1. 5 1z 3 1655. 0 1353, 0 15311.0
553259. 0 go0. &5 1z c] ZOao. o 1T57T. 0 1T15. 0
s03140. 0 BS. 3 1z 1 1730 - -
111089, 0 T2 12 = 1TIE. O 1523, 0 -
334533, 0 S0.T 1z = 10z5.0 11700 -
556536, 0 59.0 1z c] 12940 1446 0 11500
TSZZ210.0 SE.T 12 1 10=2.0 - -
83615, 0 TE. 1 12 = 1133.0 1T55. 0 -
30Tis50. 0 55.5 1z 1 18260 - -
Sz29519.0 863 1z 3 14660 1195. 0 1011. 0
TSZ127T.0 Ta. 0 12 = 1239.0 187T2.0 -
S5955. 0 a5, S 1z e 165T. 0 1915. 0 18652. 0
273591, 0 5T.0 1z 1 19490 - -
Type 5 Radar Waveform_24
Bar =t P Chi=xo Hombexr of
%ﬁ:set i Ea e };ﬁ;?’ FPul=es per |FRI-1 (a=) |[PRT—2 C(a=s) [PRT—3 Ca=d
mazgss. O SE. 4 19 1 189z, 0 — —
494512, O =59 19 = 1811.0 1813, 0 1275, 0
19570, 0 =1.9 19 = 1846 O 1zaz. O —
1TZ137T. O BT, 1 19 = 1Sz4a. 0 10z9. 0 —
SEs4a5. 0 531 19 1 1O0z4a. 0 — —
aTEZO4. O =9. 9 19 = 18521, 0 1015. 0O 11=3. 0
TE9. 0 BS. O 19 1 117a. 0 — —
1Szs05. O =3. 8 19 = 1az7. 0 1015. O 1515, 0
SOBSTS. O =e. 9 19 1 1S7TE. 0O — —
459477 0O 517 19 1 11682 0 — —
Blz14az 0 sa. = 19 1 1393 0 — —
13aB3Z. 0 TS, = 19 = 10BS. O 11z4. 0 —
zEe190. O as. & 19 = 1164, 0 1905, O 1503, 0
4404Z5. O S1.1 19 1 1470, 0O — —
Sazs91. 0 E= 19 1 1Es0. 0 — —
115366 0 531 19 1 1aas. 0O — —
CET43E. O Q1.9 19 = 1EE0. O 14z4. 0 133E. 0
AZ1TTE. 0 57,5 19 1 1Z17. 0 — —
ST3IQEE. O B4, S 19 1 1aTa. 0 — —
Type 5 Radar Waveform_25
Barst Pol=e Chirp Homber of
Off=set Width C(as) Width Pulses per |PRI-1 (u=s) |[FEI-2 (u=s) |[FRI-3 (u=s)
(as) (MHz) Bur=st
167564, 0 96, & 9 3 1043, 0 1694, 0 1222.0
432059, 0 55. T =] 1T51.0 - -
EOS441. 0 T4. B =] 2 1555. 0 1406, 0 -
a53080. 0 91 .6 9 3 1127.0 15858.0 1633.0
13495T7. 0 g93. 9 =] 3 1496, 0 1BEZ. 0 18382.0
99146, 0 T1.1 9 = 1141.0 1634, 0 -
EEZETZ. 0 T, 2 =] 2 1241.0 1530.0 -
9282720 51.2 9 1 1235.0 - -
102569. 0 aT. 4 9 3 159Z2. 0 1384.0 1521.0
3ESTS4. 0 =1 | =] 3 1B15. 0 180z, 0 1891.0
BE31515. 0 51.5 9 1 1101.0 - -
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Type 5 Radar Waveform_26

Bor=1+t Pol =e Chiarp Hoamb axr o F c 3 < 3 c 3
NDFF=set = Wi dth FPol=s=a= - FRT—1 o= PRT—2 o= FRET—3 ™=
Ca=2 Wideh Co=3 |‘oau-y Bor=t
Ag9=Z17TT. 0O = -] =0 1 1=4=. 0 — —
SS415S. 0O S5, 1 =0 3 15510 15140 18555, 0
153754, 0 ST. S =0 1 1S5S0 — —
S=ZTOozZ0a. 0 0.9 =0 3 1=7T=.0 15750 1955 0
AT1ET4. O E=2==] =0 = 1TTS. 0 14993, 0 1857T. 0O
Z20813=. 0 a4 = =0 = 17==.0 1=90. 0O 1996 0O
18515=. 0 a1, 5 =0 = 1=Z=54. 0 1S11. 0 1=Z=1. 0
Z10=2=35. 0 (=== =0 = 11970 1S58 0 —
ASS450. O T=. 2 =0 = 11570 1z9=. 0 —
2551 .0 =701 =0 = 13550 1Ss==. 0 1665 0O
147745, 0O (== =] =0 = 1548 0 1070, O —
2931540 55. 6 =0 1 1s45. 0 — —
ASE097T. O S4. 49 =0 = 158 0 199=. 0 1165, 0O
SSO017To. 0 =9, 1 =0 = 16==. 0 1ss=2. 0 1698, 0
1Z005s. 0O S5, 1 =0 1 1SS0, 0 — —
=2Ts504. 0 [=c =] =0 1 1045 0O — —
41STT=S. 0O S5, 1 =0 = 11==. 0 108>, 0 159=. 0O
SE6Z645. 0 =ST. S =0 = 1sas. 0 1411 .0 13=1. 0
11==Z4s. 0 S4. = =0 1 10=S. 0 — —
Z25TOo0s. 0 TE.Q =0 = 10=7_ 0 14=0. 0 —
Type 5 Radar Waveform_27
Bor=st Pal Chirp Homber of
OfFf=at 5 Sam Ca=) |Hidth Pul=e= par |[FEI-1 (u=) |PRT—2 (u=) |[PRI—3F (u=)
(a=s]) * — (MHz=) Buarst
S36047T. 0 BT.0 14 = 1945 0 1117. 0 -
TEO452. 0 TE. 8 14 =] 1714. 0 1215. 0 -
125570, 0 B3. 2 14 1 1820. 0 - -
S319599.0 50,2 14 1 14560 - -
S11856. 0 as. 3 14 k] 1342, 0 1326, 0 1303, 0
TO4599. 0 1.9 14 = 1911.0 1854. 0 -
101735, 0 94, 4 14 = 1211.0 17T=4. 0 1147.0
ZO4455. 0 5.1 14 k] 1917.0 1935. 0 1001. 0
45TE=Z1. 0 a5, 1 14 5 1955. 0 1015. 0 1417T.0
BESZ0OSS. 0 T™. 0 14 = 1000, 0 1550, 0 -
TT914. 0 S5, 6 14 <] 1355, 0 1914. 0 1z29.0
Z2T1295. 0 BT. & 14 = 1910, 0 129z. 0 -
AB3T1I0. 0O 7. T 14 k] 1956. 0 1584, 0 1029, 0
BSS990. 0 55,3 14 1 1749. 0 - -
5416350 91 .4 14 a5 1347.0 1535. 0 1155. 0
Type 5 Radar Waveform_28
Burst Fulse Chirp Humber of
Dffset - Width Pulses per |[PRI-1 (us) |[PRI-2 (us) |[FPEI-3 (u=s)
Hidth (a=)
(=) (MHz) Bur=t
3T1959. 0 T3. 1 T 1315.0 1055. 0 -
BEB2014. 0 BT.T T 2 1583. 0 1551.0 -
953955, 0 546 T 1 1064. 0 - -
45773, 0 BEl1.3 T 1 1563. 0 - -
336366, 0 ST.T T 1 1817.0 - -
BZTOTS. 0 BEl.4 T 1 1609, 0 - -
a1T2T2. 0 Td. 9 T 2 113T.0 1057T. 0 -
Q9ES. 0 TT.6 T 2 1TE1. 0 1165. 0 -
200242 0 TT.T T 2 1320.0 1413. 0 -
So0s54. 0 TGB.T T 2 1725. 0 1336, 0 -
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Type 5 Radar Waveform_29

BEe=ta Eoal=o ElaEm s ;efr PRT—1 (o=l |PRT—2 Ca=x) |[PET—3 (o=l
e 1 Width Cas) | raury Bar=t
440808 . O =0, 1 =0 1 1=55. 0 — —
Es3sTS. 0 Sa. T =Z0 = 1490, 0O 103=0. O 10493 O
1323300 S5=2.4 =20 1 1175, 0 — —
Z2TSa09. 0 =ST. T =0 S 1Ss1ae. 0 1S7TsS. 0 1997. 0
4212557 0O BET. 1 =20 = 12210 1212 0 —
Sa5a=T. 0 1. 1 =0 S 1135, 0 1=z=5. 0 10==. 0
114415 0 ES. 5 =Z0 1 1255, 0 — —
255320, 0 = b - =20 = 1521, 0 1549, 0O 10==. 0
AOZTTS. O TS. 1 =0 = 140=z. 0 145=. 0 —
SaA4TEg5s. 0 S4. 5 =20 = 1S0Oo1. 0 1135, 0 1564=. 0O
Q=41 . O S1. 8 =0 = 1T=7T. 0 1=8S. 0 —
Z411=1_ 0 T=E. 93 =Z0 = 1515 0 1304 0O —
SISaeTOoO9. 0 =T. 2 =0 1 1530 — —
S5Z5T1S. 0 b= = =0 S 1545, 0 1S40, 0O 1965, 0
TSSTO. O S5, 0 =20 1 1565, O — —
ZEISS=Z. 0 S0, < =0 1 1=09. 0 — —
90340 536 =Z0 1 13Z=Z9a. 0 — —
S13058. 0 TO. 2 =0 = 1==0. 0 1==1. 0 —
EOT1IS. O == =] =Z0 1 17T, 0O — —
Z2049=9. 0 p= 1= =1 =20 = 1094, O 17wToOo=. 0 14=0. O
Type 5 Radar Waveform_30
Bur=st Pal Chirp Humber of
Offset 'idfﬁ (ux) |Hidth Pulzes per ([PRI-1 (us) |[PEIT-2 (us) |[PEL-—3 (as)
(n=] (MHx) Burst
555555, 0 5z. 2 a 1 1BET. 0 - -
SPETSZ. 0 TO. 3 a z 1171.0 1599, 0 -
T1407.0 T3.5 a z 1ZE1.0 1579. 0 -
31293510 a7T. T a ] 1747.0 1763, 0 1175. 0
555121.0 83.0 a z 1392. 0 1396. 0 -
TOSOTS. O 86, 3 a ] 19730 1403, 0 1791.0
416815, 0 20.5 <] z 1431.0 1465, 0 -
ZEIEST. O TE. S a z 1595. 0 1306, 0 -
524070, 0 96, 5 a 3 1641.0 1919. 0 1620. 0
TREOS1. 0 Bl1.5 a 1 1BEZ. 0 - -
11795, 0 9z, z a ] 16290 1925. 0 1822. 0
253965, 0 51.1 ] 1 16EZ. 0 - -
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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection
1 1 16 1
2 1 17 1
3 1 18 1
4 1 19 1
5 1 20 1
6 1 21 1
7 1 22 1
8 1 23 1
9 1 24 1
10 1 25 1
11 1 26 1
12 1 27 1
13 1 28 1
14 1 29 1
15 1 30 1
Detection Percentage (%) 100%
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Type 6 Radar

Waveform_5
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Type 6 Radar
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Type 6 Radar

Waveform_11
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Report No.:2202RSU047-U7

Test Site WZ-SR4 Test Engineer Jake Lan
Test Date 2022/05/07
Test Item Radar Statistical Performance Check (802.11ax-HE160 mode - 5570MHz)

Radar Type 1 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5491 1 16 5491 1
2 5511 1 17 5614 1
3 5527 1 18 5619 1
4 5558 1 19 5566 1
5 5621 1 20 5537 1
6 5580 1 21 5510 1
7 5503 1 22 5646 1
8 5516 1 23 5576 1
9 5545 1 24 5649 1
10 5612 1 25 5638 1
11 5573 1 26 5612 1
12 5631 1 27 5581 1
13 5617 1 28 5519 1
14 5570 1 29 5603 1
15 5617 1 30 5649 1
Detection Percentage (%) 100.0%
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Radar Type 2 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5649 1 16 5560 1
2 5608 0 17 5496 1
3 5598 0 18 5635 1
4 5514 1 19 5631 1
5 5513 1 20 5568 1
6 5630 1 21 5551 1
7 5646 0 22 5565 0
8 5527 1 23 5590 1
9 5496 1 24 5573 1
10 5589 1 25 5593 1
11 5540 1 26 5491 0
12 5516 1 27 5641 1
13 5570 1 28 5591 1
14 5638 0 29 5564 1
15 5645 0 30 5491 0
Detection Percentage (%) 73.3%
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Radar Type 3 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5649 0 16 5536 1
2 5624 1 17 5627 1
3 5493 1 18 5532 1
4 5573 0 19 5557 1
5 5641 1 20 5604 0
6 5508 1 21 5622 1
7 5556 1 22 5499 0
8 5541 1 23 5535 1
9 5567 1 24 5534 1
10 5527 1 25 5571 1
11 5496 1 26 5641 1
12 5619 0 27 5587 1
13 5503 1 28 5511 1
14 5575 1 29 5559 1
15 5491 0 30 5570 1
Detection Percentage (%) 80%
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Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5649 0 16 5567 1
2 5644 1 17 5549 0
3 5547 1 18 5504 1
4 5639 0 19 5531 0
5 5622 1 20 5632 1
6 5563 1 21 5533 1
7 5557 1 22 5642 1
8 5531 1 23 5563 0
9 5491 0 24 5570 1
10 5599 1 25 5550 1
11 5505 1 26 5621 1
12 5497 1 27 5494 1
13 5509 1 28 5581 1
14 5573 1 29 5507 1
15 5510 1 30 5649 0
Detection Percentage (%) 76.7%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar

test waveforms is as follows: Pal+ P2+ P 3+ R4 = (100%+73.3%+80%+76.7%)/4 = 82.5% (>80%)

4
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Type 1 Radar Statistical Performance

) Radar Fuolse Humber of ffaveform
Trial Id Type 'iéld;.h FRI (us=) Frulses I(.enjgth
us us

Download 1] Type 1 1.0 535.0 L S3ZBE. 0
Download 1 Type 1 1.0 B15.0 a6 53145.0
Download 2 Type 1 1.0 S95. 0 g4 932220
Downlaad 3 Type 1 1.0 578.0 a2 531T6.0
Download 4 Type 1 1.0 B55. 0 g1 53285, 0
Downlaad 5 Type 1 1.0 BT5. 0 TS S52554.0
Download ] Type 1 1.0 315.0 o S3244.0
Download T Type 1 1.0 855.0 B2 53196.0
Download g Type 1 1.0 3066, 0 15 551585, 0
Download q Type 1 1.0 T75.0 B 52004, 0
Downlaad 1a Type 1 1.0 T83. 0 BT 34686, 0
Download 11 Type 1 1.0 555.0 95 53010.0
Download 12 Type 1 1.0 Ti5.0 T4 53132.0
Download 13 Type 1 1.0 g15.0 A5 53170, 0
Download 14 Type 1 1.0 935.0 5T 53466, 0
Download 15 Type 1 1.0 2920.0 19 55450. 0
Download 16 Type 1 1.0 SES. 0 94 53110.0
Download 17T Type 1 1.0 2595.0 19 55062, 0
Download 18 Type 1 1.0 BT2.0 T4 53055, 0
Download 19 Type 1 1.0 Z8TZ.0 19 54565, 0
Download 20 Type 1 1.0 2186.0 25 S4850.0
Download 21 Type 1 1.0 1369.0 34 593391.0
Downlaad ez Type 1 1.0 1349.0 40 53060, 0
Download 23 Type 1 1.0 1461. 0 3T S4057. 0
Downlaad 24 Type 1 1.0 2749.0 20 54950, 0
Download 25 Type 1 1.0 1956. 0 2T SEZE12.0
Download 26 Type 1 1.0 2307.0 23 530681.0
Downlaad 27 Type 1 1.0 1220.0 44 S3630.0
Download 28 Type 1 1.0 1585. 0 28 S27T50.0
Downlaad 29 Type 1 1.0 04, 0 a9 93336.0
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Type 2 Radar Statistical Performance

. Radar liroll =e Homber of LI T
Trial Id Type 'iéld;.h PRET (us) Pul=zes I(.::jgth
us
Download a Type 2 1.0 204.0 23 4892, 0
Download 1 Type 2 2T 157.0 26 40520
Download 2 Type 2 2.0 199.0 24 47TTE. 0
Download 3 Type 2 2.2 191.0 25 47T3.0
Download 4 Type 2 4.4 227.0 28 B356. 0
Download 5 Type 2 3.5 214.0 2T a7Ta. 0
Download ) Type 2 4.7 1658.0 29 48T2.0
Download T Type 2 1.5 z10.0 24 a040.0
Downlaad a Type 2 3.9 213.0 27 5751.0
Download 4 Type 2 4.2 170.0 pati 4780, 0
Downlaad 10 Tyvpe 2 2B 195.0 25 48750
Download 11 Type 2 4.7 175.0 P 20730
Download 12 Tyvpe 2 3T Z06. 0 27 S56Z.0
Downlaad 13 Type 2 1.2 Z216.0 23 4963, 0
Download 14 Tyvpe 2 4.2 205.0 28 57400
Downlaad 15 Type 2 4.3 192.0 28 23TE.0
Download 16 Tyvpe 2 3T 162.0 27 43T4.0
Download 1T Type 2 1.2 152.0 23 34960
Download 15 Tyvpe 2 1.0 150.0 23 3450.0
Download 19 Type 2 3.3 203.0 26 S2T8.0
Download 20 Tyvpe 2 4.5 205. 0 P BOSE. 0
Download 21 Type 2 1.7 159.0 24 453560
Download 2z Type 2 3.3 2z20.0 26 aT20.0
Download 23 Tyvpe 2 3.5 211.0 27 SE9T. 0
Download 24 Type 2 3.1 195.0 26 a01a3. 0
Download L Tyvpe 2 2.3 172.0 25 4300.0
Download 26 Type 2 4.9 200. 0 29 ago0. o
Downlaad 27 Tyvpe 2 1.3 197.0 23 45351.0
Download 28 Type 2 4.9 195.0 P aT4Z.0
Downlaad 29 Tyvpe 2 2.0 153.0 24 4392.0
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Type 3 Radar Statistical Performance

. Radar fir ] = Homber of Haveform
Trial Id Type 'iél.d;.h FRT (us) Pul=zes I(.:;l%th
us
Download 1] Tyvpe 3 B.0 201.0 16 3z16.0
Download 1 Type 3 T.T 206.0 1T Ja0Z.0
Download 2 Tyvpe 3 T.0 215.0 16 3453.0
Download 3 Type 3 T.2 475.0 16 TROO. 0
Downlaad 4 Tyvpe 3 9.4 2B6.0 15 47530
Download 5 Type 3 g.5 296.0 1T al3z.0
Downlaad ] Tyvpe 3 .7 494.0 15 G892, 0
Download T Type 3 B.5 345.0 16 a5E0.0
Downlaad a Tyvpe 3 8.9 3Ta.0 15 BEZE. 0
Download 4 Type 3 9.2 415.0 15 ToEd.0
Downlaad 10 Tyvpe 3 T.B 37T.0 17T G409, 0
Download 11 Type 3 .7 23T.0 15 4766, 0
Downlaad 12 Tyvpe 3 a.7 484.0 15 gT12.0
Download 13 Type 3 B2 255.0 16 4123.0
Downlaad 14 Tyvpe 3 9.2 383.0 15 B3940
Download 15 Type 3 9.3 207.0 15 3TER.0
Downlaad 16 Tyvpe 3 a.7 351.0 15 B318.0
Download 17T Type 3 B2 279.0 16 44640
Downlaad 18 Tyvpe 3 6.0 290.0 16 4640.0
Download 19 Type 3 8.3 346.0 1T BEGE. 0
Downlaad 20 Tyvpe 3 9.5 34T.0 15 Bz46. 0
Download 21 Type 3 B.T 3l3.0 16 a00a. 0
Downlaad ez Tyvpe 3 8.3 302.0 17T 5134.0
Download 23 Type 3 8.5 285.0 1T 4345, 0
Download 24 Tyvpe 3 8.1 250.0 1T 4750.0
Downlaad 25 Type 3 T.3 493.0 16 TEE3. 0
Download 2B Tyvpe 3 9.9 446.0 15 8028, 0
Downlaad 27 Type 3 6.3 3030 16 4543, 0
Download 28 Tyvpe 3 9.9 z215.0 15 38T0.0
Downlaad 29 Type 3 T.0 350.0 16 S600. 0
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Type 4 Radar Statistical Performance

. Radar Ll s Homber of Napefona
Trial Id Type Width FRI (us) Pulses Length
(us) (us)
Dowrdoad n Type 4 11.0 201.0 12 241210
Download 1 Type 4 14.9 Z06. 0 14 2854, 0
Download z Type 4 13.4 215.0 13 2834.0
Download 3 Type 4 157 475.0 13 B1TS. 0
Download 4 Type 4 158.5 286.0 16 4256. 0
Download 5 Type 4 16.5 296.0 15 4440. 0
Download £ Type 4 19.3 494.0 16 Ta04. 0
Download T Type 4 12.5 345.0 13 4485.0
Dowrload a Type 4 17.4 379.0 15 S685. 0
Download a Type 4 15.1 415.0 15 B2T0. 0
Download 10 Type 4 14.6 37T7.0 13 4801. 0
Dowrload 11 Type 4 19.2 237.0 16 37e2.0
Download 12 Type 4 1T. 1 454.0 15 TZR0. 0
Download 13 Type 4 11.4 2558.0 12 30960
Download 14 Type 4 15.2 353.0 16 Bl1z25. 0
Download 15 Type 4 15.4 207.0 16 33120
Download 16 Type 4 17.0 351.0 15 SE65. 0
Download 1T Type 4 11.4 279.0 12 3345.0
Download 13 Type 4 11.0 290.0 12 3480.0
Downlaoad 19 Type 4 16.1 3586, 0 14 o404, 0
Download 20 Type 4 15.9 347.0 16 g552.0
Download 21 Type 4 12.5 313.0 12 3736. 0
Dowrload 2z Type 4 16.1 30z.0 14 4225.0
Download 23 Type 4 16.5 285.0 15 4275.0
Download 24 Type 4 15. 5 250.0 14 3500. 0
Download 25 Type 4 15.9 493.0 13 B409. 0
Download 26 Type 4 19.5 446. 0 16 Ti36.0
Download 27 Type 4 11.5 305.0 12 3636. 0
Download 25 Type 4 19.7 z215.0 16 3440.0
Download 29 Type 4 152 350.0 13 4550. 0

171 of 195




Report No.:2202RSU047-U7

Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5570 1 16 5498.2 0
2 5570 1 17 5497 1
3 5570 1 18 5493 1
4 5570 1 19 5493 1
5 5570 1 20 5496.6 1
6 5570 1 21 5641.8 1
7 5570 1 22 5646.2 1
8 5570 1 23 5643.4 0
9 5570 1 24 5643.4 1
10 5570 1 25 5643.8 1
11 54954 1 26 5645 1
12 5498.6 1 27 5641 0
13 5497 1 28 5646.6 1
14 5493 1 29 5641 1
15 5497.8 0 30 5645.8 1
Detection Percentage (%) 86.7%

Type 5 Radar Waveform_1

Burst Pulse l:l_:tirp Humber of

Dff=et Width (as) ¥idth Puol=zes per (FRI-1 (n=) (FRI-Z (us) |[PRI-3 (us)
(us) (MHz) Burst

3Tag41.0 ad. 5 3 1 1231.0 - -
T42B824.0 T1.8 5 2 1565. 0 1108.0 -
1108355.0 B3.2 5 1 1z09.0 - -
1463573. 0 B65.0 3 1 1704. 0 - -
334168.0 91.8 5 3 1894.0 1942.0 1615.0
BIT519.0 80.5 5 2 1T89.0 1636.0 -
1060130, 0 95. 8§ 3 3 17T71.0 1109.0 1080. 0
1425217.0 BO. 0 5 1 1594.0 - -
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Type 5 Radar Waveform_2

EE::t 51_:15.: E]ilnil:]!; gﬁ: gl ;efr PEI-1 (u=) |[PRI-2 (us) |[PRT-3 C(u=)
(a=s) Ddkiin (fns)) (MH=z) Burst
1TTSET. O 85, 6 11 <] 1459, 0 15603, 0 1579, 0
400574, 0 59, 4 11 <] 1017.0 1129.0 1956. 0
5245822, 0 TO. O 11 = 1796, 0 1027.0 -
S45445. 0 5. 5 11 <] 157T1.0 1356, 0 1349. 0
1504582, 0 83,5 11 <] 1175.0 147T2. 0 1gz9.0
3T4355. 0 52T 11 1 1500, 0 - -
S9E423. 0 Q0. 1 11 = 1051, 0 10330 1795, 0
S17Ts=20.0 Q0. 9 11 = 15930 15150 1917.0
12=2859. 0 8534 11 = 185350 19270 1734. 0
F4T044. 0 sz 5 11 1 1z40. 0 - -
STOTIE. O s0.0 11 1 10s0. 0 - -
TAZTOZ. 0O TS. 5 11 = 13320 1635. 0 -
95549, 0 935, T 11 <] 17550 1461.0 1BE3. 0
Type 5 Radar Waveform_3
Burxst Pol=e C]_.‘nirp Hamber of
Dffset Width Cas) Width Fulsex per |[FET-1 (us) (FRT-Z2 (uoxs) |[FET-3 (us)
(us) (MHz) Burst
3ITTS3T. 0 55. 6 9 1 1637.0 - -
B414z4. 0 TE. 1 9 z 1125. 0 1014.0 -
9046352, 0 50T 9 b= 187T.0 12585.0 -
S0TO0S. 0 TG. B =] 2 1944.0 1104.0 -
344936, 0 B&. 1 9 1 1823.0 - -
BOT4TS. O 95. G 9 3 1457.0 1250.0 1975.0
ST3TS1. 0 S54.5 9 1 11135. 0 - -
45166, 0 95. 1 9 3 1529.0 1475.0 1015.0
312617.0 BZ. 2 =] 1 1085, 0 - -
STSTZ4. 0 Td. 2 9 2 17T0s. 0 1653. 0 -
S40945. 0 S6. G 9 1 1471.0 - -
Type 5 Radar Waveform_4
Bur=ct Pulse Eyirp Humber of
Dffset Width C(as) Width Fulses per |[FRI-1 (us) |[PRI-2 (uxs) |[FEI—3 (m=s)
(as) (MHz] Burst
15659. 0 99.5 9 3 1907. 0 10z9.0 1554. 0
2795035, 0 TT. 6B 9 2 17T52.0 1475. 0 -
543355. 0 B9.5 9 2 1151.0 1969. 0 -
S057T51.0 TS, 3 9 2 1746, 0 1950. 0 -
1072906, O 55.3 9 1 1156. 0 - -
248546, 0 89,3 =] 3 1633. 0 1590. 0 1747T.0
S11461.0 B4, T =] 1 15337.0 - -
TTE1SZ. 0 BO. 0 9 1 1055.0 - -
1036T1T. 0O 0. 6 9 3 1T86. 0 1206.0 Z000. 0
214935. 0 BE. 1 9 1 1107.0 - -
47T554. 0 94. 3 9 3 1354.0 1614. 0 19z0.0
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Type 5 Radar Waveform_5

Bor=+t Pol =« Chirp Huoumber oif
OFfFf=et Wwidth b Waidth Pol=s=es per FPRET—1 Coa<] FRT 2 L | FRET 3 L |
(o= = = (AH=J Bor =t
45121=. 0 L= 1 R A 1= = 11=1. 0 1=14. 0O 151, 0
Bl15E1=. O SO, = 1= 1 1009, O — —
111=19. 0 =1.Q 1= 1 140, O — —
Z2T1ITT4. O SO, 9 1= = 194, O 1826, 0O —
4Z1ET4. O a7, 4 1= = 19=7T. 0O 124=. 0O 17T, 0O
Sa9Si190O. O S4. T 1S 1 1505, O — —
[1OST. O Q0.9 1S =] 1526, O 1254, O 1225, 0
Z5SZzEe493. O B0O. S 15 1 1S51=Z. 0 - -
Al1Z=16. O a7T. T 15 S 17Ta5. O 1590, O 1530, 0
STISZG. O 21,5 15 S 1509, O 1054, O 154=. 0
TiI6O0=_ 0O 543 15 1 1==5. 0 — —
233059, 0 SO, = 1= 1 10=5. 0 — —
pet=led 1= P | 1.9 1= = 1840, O 1Z211. 0 1234, 0
S5E3014. O L= b = 1= = 150z, 0O 130=. O 1119. 0
S1548. 0 E= P = 1= =2 1854, O 1506, O —
Z119z=7T. 0 E=2= . = 1= = 1417. 0O 1=39. 0O 1e21. 0
FITI=9S. 0 TS B 1= = 109Z. O 121=. 0 —
SI34555G. O D15 1S = 114z, 0O 174z, 0O —
Type 5 Radar Waveform_6
Buor=+ Pal Chirp Homber of
Off=et Width (a=) |Hidth Pulses per |[FEI—1 (us) |[PRT—2 f(us) |[PRL—3F C(uas)
(as]) (MH=) Bar=st
SE0S2. 0 al. = 14 b 1TE4. 0O 1STT. O 1454. 0
ZEiEz9. 0 BZ. 0O 14 1 1647. 0 - -
474492 0 TI. IS 14 = 19710 142, 0 -
BE1S9S1. 0 B0, 1 14 1 17TTS. 0O - -
14360, 0 B3 1 14 i 1360 - -
ZOTE91. 0 Q. 1 14 I} 11S&. 0 1516, 0O 1599, 0
401917, 0 sa. 1 14 i i0z4. 0 - -
S04z51 .0 S = 14 = 1105. 0 1856, 0O -
TaST1i4. 0 B1.T 14 i iTai. o - -
1GIEES. 0 Sz, 5 14 = 1G4z, 0 1TIE. O -
STEEZ40. 0 =E - 14 b iBz4. 0 1zE9. 0 1953, 0
SEOQES. O =7T.a 14 = 13TT. 0 1079, 0O 1167.0
TEZOOS. O ao. 1 14 b i19i. 0 1939, 0 1845, 0
1595770 SE. 0 14 = i3s3 0 1552, 0 1904, 0
352985, 0 TT. S 14 = 1903, 0 i1G=21. 0 -
Type 5 Radar Waveform_7
Borsit Fal = Chirp Hombar o
DFfFfzet Wadth G 2 Wadith Folcexs pper FRT—1 o= FRT > o= FRT—3 o=
[ = o™= AHx Bor =+t
ASZ==59. 0 2. 4 19 1 1155. 0 — —
SS1=27T7T.0 [=he =1 13 = 1se5. 0 1744 0O 153=. 0
1o7Tsos. O sS04 19 = 1085, 0 1411. 0 —
=5g955S9. 0O T & 19 = 19s=. 0 1=19. 0 —
4111=9. 0O S5, = 19 = 17T=0. 0 1SS0S, 0 1==5. 0
SsaeSsSa0. 0O =14 13 1 17TsS=2. 0 — —
SsS545. 0O 99,9 19 = 1=1=2. 0 10==. 0 1=Z===. 0
=Z4157T4. 0O =sT.1 19 1 17T==. 0 — —
S94S0O5. O =1.7T 19 1 17TTS. 0 — —
S4505=. 0 8515 13 = 147=. 0 145=. 03 —
ToOoz=g. 0O BES. 4 19 1 137S.0 — —
=EZls==.0 [=1 S =Y 19 = 1055, 0 1ggga. 0 1=91. 0
=STASS=. 0O TT. = 19 = 1S47T. 0 11=0. 0 —
S=To47T . O TT. B 13 = 15550 133550 —
SOog9=Z=s. 0 =4.9 19 = 18657T. 0 17T=1. 0 145=. 0
=Z0=47TT. 0O TS, S 19 = 117=. 0 199=. 0 —
S5TOST. O s0. T 13 1 1047, 0 — —
SOoTE2=39. 0 [= = - 19 =] 1=z, 0 1a7ToO. 0 154z, 0
SZ=Z0Oo. 0O TS, 3= 19 = 11=9.0 1=S&50. 0 —
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Type 5 Radar Waveform_8

Burst Pulse Chirp Humber of
Dffset ¥idth (us) Width Pulses per |[PRTI-1 (us) ([PRT-2 (us) ([PRT-3 (us)
(=) (MH=z) Bur=t
351326.0 99. 4 g 3 1364.0 1445.0 1551. 0
B4=2T20.0 S4.1 ] 1 1906&. 0 - -
9Q32297.0 T3 g8 2 1815.0 1373.0 -
257T11.0 gd. 2 g 3 1430.0 1757.0 1745, 0
315995. 0 87.2 g 3 1055. 0 1089. 0 11z0.0
BOTOSS. 0 55.9 ] 1 1635. 0 - -
S9B2849. 0 T4. T g8 2 18387.0 16BE. O -
115535347. 0 B4.1 g 1 1635.0 - -
250103, 0 93.0 g 3 11355. 0 1324.0 1392. 0
S5T1426.0 55,4 ] 1 1295.0 - -
Type 5 Radar Waveform_9
BFor=+t Pol = Chirp Homber oif
Off=et Wrdih Cu=) |Fideth Pul=e= per |[PRET—1 C(u=]) |[PRT—2 (a=) ([PRT-—3 C(a=]
(a=] > (MH=) Bor=s+t
SOEQS0. O 25, 4 16 1 1036, O - —
ETTEOS. O Sa. 8 16 1 1z44. 0 - -
14=09=. O =14 16 1 1082, 0O - -
=T1TE4a. O TE. @ 16 = 1580, 0 1933 0 —
454TS1. O Tz & 16 = 11za. 0 1s9s. 0 -
BES4B55. O TT. 4 16 E 1S575. 0O 1807, O -
1228TE. O EEE 16 1 1412. 0 - -
ZQSESEE. O sz 1 16 1 1843. 0O - -
AB4BS1. O 83. 8 16 1 1517. 0 - -
BEZZEdd. O Q0. 4 16 = 1972, 0 1z1=. 0 1mz1.0
101809, O =0, = 16 = 1441. 0 1S03. O -
ZT12SE. O a1. 4 16 = 1991. 0 1517. 0 1601. 0
44SSESS. O S4.8 16 1 1546, 0O - -
BE1S23E. O T1. 8B 16 = 13504, 0 1447. 0O —
SO0S50. 0 = 16 = 1951, 0 1479, 0O -
FEM444 0 at & 16 = 11=1. 0 1864 0 17TTa. 0
azzE1E. O 51,4 16 1 122, 0 - -
Type 5 Radar Waveform_10
Buor=t P Chirxp Humber of
%£§§et CETEE T 1;;;? Pul=ex per (PRI-1 Ca=) |[PRT—2 C(a=) |PRT-3F Ca=l
SSEET1. 0 Ta. @ 17 = 1584, O 15T=. O —
SE408. O s5. 8 17 1 1499 0O — —
217TO56. 0 THE. 9 17T = 15s=.0 1TSS 0 —
=TETI0. O =6, B 17 1 1@EE. O — —
SaTAEG. O a3, a 17 = 1045, O 1943 O 1504, O
IEIET. O as. 17 = 1485, O 18z3. 0O 1483, 0O
1aTsSEeg. 0O 1. 7T 17T 1 14570 — —
FSE0EE. O =E. T 17 = 1077, O 1401. 00 1098, O
519535, 0 T3, 4 17 = 1070, O 16T, 0O —
16509, O a3 & 17 = 103z, O 1S540, O 1090, 0
17TT1==.0 949, T 17T = 156550 12150 1s=4. 0
TIEOST. O az. = 17 = 1mET. O 1049, O 1523, 0
49ASET. O sa. T 17 = 1582, 0O 13370 —
BEEZOTIS. O &0. 4 17T 1 15550 — —
1Ss7T=99. 0 =ST. 1 17T = 14==. 0 1SO0s. 0O 15s=7T. 0
=1oE1E. O =6, = 17 1 17S=. O — —
4TaTe0. O aa. & 17 = 1985, 0 1159, 0 1101. 0
BES95ST. 0O S55. 35 17T = 13590 16750 1055. 0
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Type 5 Radar Waveform_11

Bar=st FPal Chirp Homber of
Off=zct T (as) |Width Pulzex per |[FPRT—1 C(u=x=) [FRI—Z (ux) [FRI-3 (uas)
(as) * — (MH=z) Buor=st
191257T. 0 T1.7T 11 2 119&. 0 1642 0 -
415215, 0 53.9 11 1 1110 - -
535545, 0 ST.7T 11 1 1034, 0 - -
SERZZ255. 0 S4.4 11 1 1286, 0 - -
164042 0 S0, 1 11 1 12535, 0 - -
IEETE4. O TS. 2 11 = 1841.0 1846 0 -
E10336. 0 T3. T 11 = 1296. 0 1155. 0 -
S5E1999. 0 SE. 9 11 = 15=4. 0 1400, 0 13790
138147T. 0 95. 5 11 = 10520 1015 0 1596 0
355437T. 0 Q9s.0 11 = 1=97.0 1474 0 19350
5532520 5T7.9 11 1 1585835, 0 - -
SO5B55. 0 = 1= 11 3 1964, 0 15100 15550
105664, O = 1= 11 3 1110.0 140z 0 153250
Type 5 Radar Waveform_12
Bor=+ FPol = C!:.irp Hombeaer oif
IZE_E:?et Widri Coa=2 'I'(;]d{:?. gﬁ::s - e FRET—1 o= FRYT —Z o= FRT—3 o=
=Z2Ti64. 0O 55,14 19 1 1865 0 — —
SITS5S9E. O =9, 5 1ia = 1454, 0O 1=47. 0 1=00. 0
S=Z9goSs9. 0 a1, 5 19 = 1555, 0O 1S0=. 0 1S4 0O
S5415. 0 a5. 9 19 = 101=. 0 1977T.0 1=7T7.0
ZOS4E0. O SiE. 4 19 1 18680, O — —
S51309. 0 B5. 1 19 1 146=. 0 — —
S14015. 0 1. 7T hR=] 1 1802, 0 — -
EBTES. 0 T3. 1 19 = 1950, 0 1421.0 —
1S957TT. O 1.1 19 1 1410. 0O — -
S4A0SST. O S99, T = = 1T=5. 0 1TS54 0O 14970
49EE45. O SS. S = = 10=5. 0 13S0, 0 i11g99. 0
179350 a9, 5 19 = 1153 0 11=5._ 0 1990. O
1TO1SsS. 0 ==.49 1ia = 1=Z19. 0 13950 1=4=_0
SEETUTS. 0 &BO. O 1ia 1 1=2=s. 0 — -
ATEOSO. O =2=l ] 19 1 1995. 0O — -
BZESS1. 0 a5, 1 = = 18589, 0 117=. 0 1SS0, 0O
151523 0 T9. 9 19 = 1500. O 1591 .0 —
SO0s==27T. 0 o=, 0 19 = 1355. 0 1T=7T. 0 17TaT. o
4SS00s. O =15 1ia = 15=9. 0 156350 1T9=. 0
Type 5 Radar Waveform_13
Bor=+1t Pl Chirp Homber of
OFff=et '.dfﬁ Ca=) |Hidth Fulxex per |[PET—1 (u=x) |[PET—2Z (a=x) [PRT—3F C(u=x]
(a=x] * = (MH=] Bor=+t
TEZEESS. 0O S6. 0 15 1 1006, O - -
157TES1. 0 SE. 4 15 ] 1825, 0 1102, 0 1319, 0
FEFQS10. 0 SE. 9 15 1 1380, 0 - -
S1S7T39. 0 3.9 15 ] 1305, 0 1913, 0 1925, 0
TOZSS94. 0O =537 15 1 1416, 0 - -
1358589, 0 T4, 4 15 = 1254. 0 1134. 0 -
17194, 0 554 15 1 1951. 0 - -
49SB5ST. 0O =17 15 1 1594, 0O - -
BTSSS1. 0 3.0 15 = 1554, 0 1740, 0O -
113520, 0 =T=0 ) 15 1 1300, 0 - -
f=l=tct=3 E- 100. 0 15 k<] 1051. 0 1871.0 1583, 0
ATBSISS. 0O B3. 8 15 1 1533, 0 - -
BET14T. 0 0. T 15 =] 1531.0 1048. 0O -
[=Tat=1=1-"u T4.0 15 =] 1885, 0 1548. 0O -
ZT180T. 0O =T~ 15 k] 1303. 0 1745, 0O 1351. 0
452354, 0 =T~ 15 k] 1545. 0 1515. 0 1429. 0
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Type 5 Radar Waveform_14

Burst Pulse Chirp Humber of
Dffset ¥idth (as) f1dth Fulses per (FRT-1 (us) |[FRI-Z (u=) [FEI-3 (us)
(us) (MHz) Bur=t
1272505, 0 23T 3 1 17TT6. 0 - -
1537545.0 4.3 5 2 1620.0 1225.0 -
=010z2. 0 Bd. 6 5 1 1750.0 - -
gB3905. 0 5.9 5 2 1265.0 1331.0 -
1225274.0 90, & 5 3 1491.0 1650. 0 1652.0
92TES. 0 aT7. 1 5 3 1382.0 11533.0 1212.0
456315.0 B2. 1 5 1 157T0.0 - -
S819776. 0 B0. 6 5 1 1494.0 - -

Type 5 Radar Waveform_15
Boar st Pual =« Chirp Homber of
':E£§§Et Width Co=sl) "(;]1;? gi::s e FRYT—1 o= FRYT—2 LT | FRT—3 L6 |
SzZ417T3.0 T4 2 17T = 115=. 0 185s. 0 -
21Z17T.0 [=1=T 17T = 1405, 0 17TOs. 0O -
1S27T4S. 0 S50 17T 1 1Z09. 0 - -
S4Z95a5a. 0 [= 1S ] 17T 1 1=97T. 0 - -
SO5517T.0 BS. 1 1T 1 1530, 0 - -
1496, 0O B4, 5 1T 1 1=s7T0o. 0 - -
1ezZ041. 0 Q1.9 17T = 17T=7T. 0 11z2=2. 0 17T7TT. 0O
Z2Z190. 0 (=TS =] 17T = 1900, 0 1559, 0 -
4SSSS9. 0 S4.9 17T 1 15335, 0 - -
54510, 0 T3. S 17T = 1095, 0 1004, 0 -
14=518. 0 Q5. 35 1T = 1567T. 0 1549. 0O 153=5. 0
=04a109. 0 B=.0 1T 1 1ss9. 0 - -
AEZ4ATZ2. 0 L= = = 17T = 19=Z0. 0 1z49. 0 1=357T.0
BEZETZ24. 0 (=1 17T 1 17To9. 0O - -
1225135, 0 0. o 17T b= 1959, 0 1z214. 0 1352 0
Z2S3SeS. 0 TL. S 17T = 1=99. 0 1S5S, 0O -
A44STSET. O 53,0 1T 1 1454 0O - -
[=lul=t=1=1=]ay u] (=1 S 17T 1 1555, 0 - -

Type 5 Radar Waveform_16
Bor=1i Pol=e [:]_xirp Homber oif
l%££§et Width Cos=J) '(;ii[;? ;ngs »rer |[PRT—1 L E ] FRT—Z (mox) FRT—3F (o=s)
10=z539. 0O B5. = 15 = 1598, O 1557. 0 —
ZE4191 .0 B&. T 1= = 1255, 0 10970 -
AZSTTT. O 51.1 1= 1 1ezz. 0 - -
Ssael4z. 0 TS. 43 1= = 18=1. 0 104=. 0 -
S3IZTO.0 ST. 6 1= 1 1zz20. 0 - -
244102, 0 TS, 1 1= = 1045, 0 198=. 0 -
4041510 S9. T 1= = 1325, 0 19720 1=0Z. 0
SETESZ. O (=1 = 1= 1 1081. 0 - -
BE3S01. 0 55, 3= 1= 1 1117. 0 - -
224445 . 0 TO. = 1= = 141=. 0 10940 -
ZISSS30. 0 (=1 1= 1 1935, 0O - -
S4TAZT. 0O 54,1 1= 1 149=. 0 - -
A43Z91 .0 9. 7T 1= = 1z245. 0 1Te=Z. 0 1=s21. 0
Z04s02. 0 Sa. 0 1= 1 1=7T=. 0 - -
IES4A33. 0 T4, = 1= = i1eQ9. 0 117T7T. 0 -
SzZ459T. 0 Q5. 4 1= = 1941 .0 1z4=. 0 18740
Z=T=1.0 S99 B 1= 1 1=14. 0 - -
1s4137T. 0 E=E R ) 1= = 12265, 0 19s9. 0 13830
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Type 5 Radar Waveform_17

g‘;:l;:_::t Pual=e E::lilid:]:-: II’E?;:; oef:r FRET—1 (o=l FRET—2 (m=s) FRT—3F (o<
(a=) LR dlkiEh (sl (MH=] Buor=1t il
S59=z06. 0 B9. 4 15 = 1470. 0 1095, 0 -
SBIz4=. 0 &9. 2 15 S 1005, 0 15s0. 0 1510, 0
4514 0 S5, B 15 S 144=. 0 15=1.0 1664, 0
15555z, 0 B5. 35 15 = 1T1=. 0 1940, 0 -
SBTZ1=Z. 0 B4 B 15 1 1556, 0 - -
S4TTE91. 0 &1, 2 15 = 1099, 0 1asz.0 -
TIO19S. 0 S5.5 15 1 1Ts0. 0 - -
1563511, 0 =T.1 15 1 10z0.0 - -
S4z9z0. 0 L=1m . 15 = 1954, 0 1955, 0 -
SEZ51sST. 0 S1. 2 15 = 1T=9.0 1T1S. 0 -
TaS9oOT. O 95, T 15 = 155=2. 0 1140, 0O 11=7T.0
140545, 0O 95, = 15 = 1455, 0 157TS. 0 1305 0
SFZ1ez2T. 0 53,5 15 = 110=. 0 15160 13220
Sozs0s5. 0 Q5. = 15 = 1425 0 14550 1157T. 0
BES4354. 0 TS. S 15 = 1152 0 1585 0 -
115530, 0 TG, 4 15 = 135=. 0 1749 0O -
Type 5 Radar Waveform_18
Burst Pulse Chirp Houmber of
Dff=et Width (as) ¥idth Pulzes per |[FRI-1 (us) |[FRI-Z (us) (FRI-3 (u=)
(us) (MHz) Burst
BO0453. 0 T8, 3 o i 1611.0 1545. 0 -
QEZ307.0 95.5 5 3 1207.0 1994. 0 1974. 0
1325228, 0 99.6 5 3 1924. 0 1334.0 1490, 0
192559, 0 a3, 4 5 3 1843.0 1414. 0 1965. 0
oeBETE. 0 Bl.8 o 1 1217.0 - -
919054, 0 T9.6 5 2 1256.0 1632. 0 -
1251943.0 TE. B 5 2 1450.0 1B51.0 -
147321, 0 9.4 o 3 1957.0 1703.0 1404, 0
Type 5 Radar Waveform_19
Burst Pulse Chirp Homber of
Dff=et ¥idth (us) WHidth Folzes per |FEI-1 (us) |[FRI-Z (ux) |PRI-3 (u=)
(us) * 25| (MHz) Burst
Slig39.0 9.3 5 1 1805. 0 - -
a8T4223.0 T1.0 o 2 1955. 0 1111.0 -
123853T7.0 3.4 5 1 1544. 0 - -
103260, 0 90,49 o 3 1993. 0 1TIT.0 1333.0
4BB4E5. 0 3.9 5 2 1Tel. 0 1239.0 -
20655, 0 4. 2 = 3 1501.0 1504. 0 1290.0
1191549, 0 g5, 4 = 3 1221.0 1724.0 1355.0
EET25.0 2.1 5 1 1546. 0 - -
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Type 5 Radar Waveform_20

Bor=*+t Pal=e Chirp Homber of
Dff=est Width 3 Width Ful=e=s per |[FRT—1 (a=) |[FRET-2Z (umu=) |[FPRT-—3 (ua=)
(a=x) * o (MH=) Bur=1
Zzazz0. 0 ag. 1 14 k] 1834. 0 1152. 0 1145. 0
4157TT5. 0 564 14 1 1z215. 0 - -
Bl1z490. 0 sz.0 14 1 1232. 0 - -
Tad4. 0 B3Z. 9 14 1 1617.0 - -
ZOOSET. O TT. 5 14 = 1799, 0 1545. 0 -
94940, 0 =0, 4 14 1 1153. 0 - -
SE53T45. 0O 52,1 14 1 1071.0 - -
TEOTST. O Ta. 9 14 =3 1143. 0 17T19. 0 -
1TESTO. O ET.0 14 = 1355, 0 1862. 0 -
STO945. O 50, 4 14 1 14520 - -
SEZS4S. 0 1. 6 14 <] 17T35. 0 1044. 0 11640
TSE3Z4. 0 55 5 14 1 1407. 0 - -
153055, 0 TO. 1 14 = 15850 158=2. 0 -
FATZTE. O =5T. 2 14 1 1000, 0 - -
S33532.0 ST. 3 14 = 17T1s5.0 10e7T.0 1346, 0
Type 5 Radar Waveform_21
Bor =<4t Pol = C]_lirp Homber oif
':::‘fE;jEt Wideh Ca=2) '(;ii[;:l)l Eﬂ;:s e FRT—1 Coa=s FRT 2> Coa= RT3 o=
STSSO=Z. O T=E. = 1= = 1o0Ss=. 0 1754 0O —
1017T4=. O S5 35 1= = 1S=5. 0 105=. 0O 1549, 0
=Z54z=95. O BT. = 1= = 194, 0O 1=7ToO. 0 —
4066TZ. O sS0. 5 15 = igio. o 1406 0O —
S555s01. 0O TS, T 15 = 1s30. a 1781 .0 —
S3051 . 0 a5 . 3 15 = 1z2s57T.0 1=40. 0O 1440 O
Z3a329. 0 Bl. = 1= 1 11=4. 0 — —
SSTETE. O TE. S 1= = 19=1.0 1TEE. O —
S=9Z217T. 0 =95 1= = 15=6. 0 108=. 0 19490
E450T. O B=. S 1= 1 11658, 0 — —
Z163551. 0 ST. 3 1= = 119=. 0O 151=_ 0O 155S. 0
STO400. O S99, 0O 1= 1 11e=. 0 — —
SEO0ES. O p=hc o =Y 1= = 1&=0. 0O 1714 0O 17T1io0. 0
A4SE9S. O TT. T 1= = 10Z=0. O 1110 —
1g9s2as. O BT. 3 15 = 1144 . 0O 1=94._ 0 —
S5SOTTE. 0O TT. 3 15 = 11a0. O 14=7T._0 —
SO15355. O a5 . B 15 = 19=ZG6. 0O 161=. 0 1=7s. 0
ZETET. O 9= . 4 1= = 157=. 0 1TeEO. O 1=9=. 0
17T90e1 . O 95 & 1= = 1010, 0 11490 17T==.0
Type 5 Radar Waveform_22
Bur=t Fulse Chirp Humber of
Offset Width (as) Hidth Fulses per |([FET-1 (u=s) |[FRI-Z2 (us) (FRI-3 (us)
(u=s]) (MHz) Bur=st
BIZT3T. N0 52,0 T 1 117T6. 0 - -
921504, 0 TT. 1 T 2 1879.0 15875.0 -
15373. 0 a1.1 T i 1437.0 1394.0 15816.0
S0619Z2.0 B61.9 T 1 109z.0 - -
595299, 0 5. T T 3 1936. 0 1356.0 1146.0
S86906. 0 7.8 T 2 10z21.0 1194.0 -
11T538T. 0 93 4 T 3 1247.0 1459.0 1534. 0
ZBISEG. 0 B9. 6 T 2 1554. 0 1TET. 0 -
SBO39Z. 0 g1.4 T 2 1436.0 1272.0 -
8517920 Bl1.3 T 1 1273.0 - -
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Type 5 Radar Waveform_23

Buorct Pul=e Cyirp Homber of
DfFfzet Width Cas) Width Fulsex per |[FPRT—1 (o=} |[PRAT—2 f(mx) |[PRT—3F (ux)
(a=) (MH=] Bur=st
TSSSS54. 0 S5.0 14 =] 1555, 0 10zz. 0 1=z=7T.0
1553120 B3.0 14 = 1TaT. 0 1Tas. 0 -
S491564. 0 T9. 2 14 = 156560 1574, 0 -
S45z9z.0 5=.1 14 1 157T1.0 - -
T3423Z. 0 853. 7T 14 e 19Z4. 0 1520.0 1287T.0
153=z075. 0 G1.35 14 = 1535.0 1T=5. 0 -
IZE045. 0 52.6 14 1 1450. 0 - -
519373 0 BZ2. 6 14 1 10850 - -
Tis6Z=Z4. 0 55. 4 14 1 1i19a.0 - -
103475, 0 B0, 1 14 1 17TT4. 0 - -
SozZosa. 0 a55. =2 14 1 1515, 0 - -
495450 0 S54.5 14 = 1537T&. 0O 1947. 0 1970, 0
BST44T. 0 53.9 14 e 12630 1B05. 0 1005, 0
S4aB=9. 0 B=. =2 14 1 1TeE9. 0O - -
2TS2ES. 0 51.3 14 1 1590, 0 - -

Type 5 Radar Waveform_24
Boar=*+t Fal=e Cyirp Homber of
Offzet Width Ca=) Width Pulsexs per |[FPRT—1 (ox]) |FET—2 (uxs) |[PRT—3 (o)
(as) (MHx D) Buor=st
459905 0 Q0. & 14 S 1501, 0 167G, 0O 153=. 0
BEZ96E5. O Q91. 5 14 =] 145=. 0 1457T.0 15=0. 0
BOS55. 0O 55. 5 14 1 1105, 0 - -
=25435350. 0 5=.1 14 1 19z=.0 - -
44ETIS. O Q99,1 14 S 1515, 0 1465, 0 1z01. 0
B4047T9. O T3, 2 14 = 1=zz0. 0 1745, 0 -
IeTIS. 0 a5, 1 14 = 1z02. 0 1539, 0 19320
2305120 [=1= = 14 1 1539. 0 - -
4z5=27T4. 0 TE. B 14 = 199T. 0 1551. 0 -
Bl17Ta4=_0 55.1 14 1 1455, 0 - -
1510=. 0 B0O. = 14 1 10=35. 0 - -
ZOBE35E. 0 S1.1 14 = 1914. 0 1Zz04. 0 -
pei=1=] = L= ] TE. 4 14 = 157TE. O 1Z59. 0 -
Sa32EE. O BS. B 14 = 1456. 0 11=35.0 -
TST439. 0 SzZ.9 14 1 1z04. 0 - -

Type 5 Radar Waveform_25
Bor=+t Pul=e Eyirp Homber of
DEf=at Widith C(as) Width Ful=e= per [PRT—1 (u=s) |[FRET—Z [(a=) |PRT—3F (u=s)
(a=) (MH=) Bur=st
19539=. 0 855.3 13 3 11750 1074. 0 15851.0
4025250 TTr. 2 13 = 1367T.0 1T21.0 -
BlO03=. 0 = =] 135 = 1616._0 1Z51.0 -
S1S8ET. 0 Bl.2 13 1 13T 0 - -
1TO3S4. 0 54.5 13 1 13690 - -
ITBRSTO. O g94. 5 13 3 18090 103T. 0 12450
5585275, 0 55.0 13 1 17830 - -
TOZESS. 0O S6.5 135 1 1557.0 - -
14490z 0 59.9 135 1 1236, 0 - -
351244 0 aB. 5 13 3 12990 19730 1001. 0
559533T.0 B5. 3 13 1 160&._0O - -
TETSO9. 0O =% = 13 1 14050 - -
11590=. 0 a3, 2 13 ] 1634 0 1091. 0 1851.0
SZBRZZ20.0 gz. 2 13 = 13z9.0 1z52.0 -
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Type 5 Radar Waveform_26

Bar=st Pal Chirp Hoamber of
Dffset e (as) |Hidth Fulse=x per ([PET-1 (u=s) [PRI—Z (usx) |[PRT-3 (us)
(ax=) * o (MHz) Bur=st
BZ1502. 0 S55. 3 10 5 17T54.0 15935. 0 1185.0
SE4312.0 BT.3 10 = 1822.0 1445 0 -
109070, 0 Q3. 2 10 = 1Z07.0 1147.0 19950
351155.0 TS. 9 10 =2 1222.0 14220 -
S9355359.0 BO. 5 10 1 1519.0 - -
836254 0 53.0 10 1 1073.0 - -
TIZ04. 0 SE. 4 10 ] 18354 0 11300 1Tol.0
S3Z056T. 0 S4.49 10 ] 1511.0 1935. 0 13660
SEZEET. D BT.S 10 = 1955. 0 169335, 0 -
SO4B06. 0 82 4 10 z 17TT0O.0 1539. 0 -
49596, 0 85,1 10 ] 1541.0 14330 13060
291021. 0 8T.0 10 ] 1TOG. 0O 1730, 0 1019.0

Type 5 Radar Waveform_27
3E§:t Pol <o E?’:-il:]’; gﬁ::: ;fr PET 1 Ca=) |[PEX 2 C(a=) (PRET- 5 Coa=)
Cm= Wadth Ca=d | rawwed Bar =t
SFE0=zs0. 0 51.5 =0 1 1=Z0=. 0 — —
a4sSzZ0S. 0O L= = ) =20 1 1S91. 0 — —
115510 27, 1 =0 = 1S1=. 0O 19s=. 0 15=5. 0
1Sse7T=Z23.0 T3S =20 = 1SO09. 0 107S. 0O —
S0=111. 0 SO, 1 =0 1 1TSS, 0O — —
445as7T . 0O TE . = =0 = 16960 1559, O —
SoOOSsSS. O a4. 0 =0 = 1155 0O 1100, O 1Zz80. 0
1=59=5<4._ 0 S0, 4 =0 1 1=297. 0 — —
=ZS39S5=. 0 AL S =20 = 1015, 0 1=S0. 0 —
AZSETO. O TS. 1 =0 = 117T1. 0O 1S0Os. 0O —
STsOo40. 0 (== ] =20 1 111&._ 0 — —
1Zz1089. 0 T=. T =0 = 14==. 0O 154=. 0O —
ZEGEEOS. O =7T. 4 =0 1 1=Z==4. 0O — —
“4117T=27T. 0 Se.9 =20 1 1355, 0 — —
SSSS19. 0 S=.5 =0 = 1909 O 1174, 0O —
i10z91=. 0 [= 1= =) =20 = 1S=S1.0 1507, 0 1409, 0
=Z4ATES=Z. 0 a5, 5 =0 = 1=9=. 0 1S99. 0 155sS. 0
ZFass=a. 0 (== = =0 1 1547 0O — —
SE56195. 0 [= 2= Ny =20 = 15520 1=44. 0O 1=10. 0
SSEISS. 0 S5, 5 =0 1 1040, O — —

Type 5 Radar Waveform_28
Barst Folse Eyirp Homber of
Dffzet ¥idth C(as) Width Polses per |[FEI-1 (us) |[FRT-2 (us) [FET-3 (us)
(us) (MHz) Burst
513261.0 54 .8 b 1 1919.0 - -
8343460 g4.0 B 3 1590. 0 1636. 0 1593. 0
1156642, 0 88, 3 G 3 1T13.0 1315.0 1692, 0
150267, 0 aT7.4d G 3 1477.0 1911.0 1259.0
473291, 0 BT. 0 B z 1031.0 1435.0 -
TIBEIZE. 0 5z 2 B 1 1025.0 - -
1119457. 0 B5. 9 b 1 1739.0 - -
110834, 0 B0. 6 b 1 1512.0 - -
433882, 0 BE. & B 1 1391.0 - -
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Type 5 Radar Waveform_29

e Eoal=o Ehee e ;efr PRET—1 (o=3 |[PRET—2 (oa=) |[PRT—3 Coa=l
Ca=3 Widsh Ca=3 | mmu-d Bar=t
40085, O S0, a =0 1 159z. 0 - -
45S11=_ 0 =sa. T =0 1 1695 0 — —
ZF17930. 0 a7, S =20 = 1050, 0 1145, 0O 1=7T4. 0
1TEEES. O TS 1 =0 = 1493, O 1511. 0 —
=F2110=_0 ET. S =20 = 17T=7. 0 1=7=. 0 —
ABABTT. O az. & zo = 1857T. O 16T=. O 1643, O
14044 0O =555 =0 1 165a. 0 — —
1S9097. 0 [=3= i = =20 1 1S9s5. 0 — —
F0zs2T. 0 =6, 4 =0 = 1T=6. O 1a9z. 0 1zaz. o
44T 54, 0 h=1 =T 3 =20 = 1=3=0. 0 1S=2=. 0 1=41.0
se1eEs. O =a. = zo = 18E5. O 11z7.0 1730, 0
140901 . 0 TO. T =0 = 15==_0 1TES. O —
Za5151. 0 az. & =0 = 1476. O i1z=3. 0 1507, O
aZ193=. 0 s7. = =0 1 107 O — —
STETOS. O =0, = =20 1 1SSS. 0 — —
123513, 0 ez, = =0 1 1181. 0 — —
ZESZES. O TO. S =0 = 10=3a. 0 1=05. O —
a1zasz. 0 Ti.a =0 = 1255, 0 1505, o -
S5saz=17T.0 556 =0 1 117a. O — —
105=294. 0 TS S =20 = 1=544. 0 1137, 0 —
Type 5 Radar Waveform_30
Burst Pol=e Chirp Homber of
Dffset Width (as) Width FPulzes per (FET-1 (u=z) |[FET-2 (u=z) |[PRT-3 (u=s)
(as) : o (MH=z) Burst
456345, 0 51T g 1551.0 - -
T18255. 0 SB. 3 g 19150 190z, 0 1197.0
9546835, 0 El. 5 g 1 16TT. 0 - -
159289, 0 95, T g 3 10720 16T5. 0 1035. 0
4234030 T, 5 g z 12760 1295. 0 -
BEST141.0 gz 2 g z 19120 1007. 0 -
Q51082 0 ET. 9 g z 1537.0 1326.0 -
127051, 0 B4, 4 g 1 15720 - -
F91111.0 59,2 g 1 1957T.0 - -
BES5553. 0 5B.5 g 1 1395. 0 - -
Q171990 aT. 9 g 3 1274.0 1923.0 1275.0
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Radar Type 6 - Radar Statistical Performance

Trail # 1=Detection Trail # 1=Detection
0=No Detection 0=No Detection
1 1 16 1
2 1 17 1
3 1 18 1
4 1 19 1
5 1 20 1
6 1 21 1
7 1 22 1
8 1 23 1
9 1 24 1
10 1 25 1
11 1 26 1
12 1 27 1
13 1 28 1
14 1 29 1
15 1 30 1
Detection Percentage (%) 100%
Type 6 Radar Waveform_1
I: ot tansy |o o = = =
[0 ] sS587T S=ZT1 sSa5S-1 E=1=r s s 4 S
= SS0= =57 =514 SEETE =TT
410 S3T= s515 S=Z9-1 S=ZTS =57
1= ==73a =931 =41 =S53=T == =g
=2 SToa= == Sa40s I=1==1=] =T=a
== =572 E=1=1=1 =1 =1 ===y Sa459a =571
=0 Sa56 L= =1 = Sas= S5=5 sS=as
== =5=13= == == =1 = = [=1=rgu | =555
A SS=4 sSaTS Sa41= S5 =559
e 8 =4 5551 S55S1 Sa4=5 Sa4a4= S555
= SEST SEaS L=1==1=% S=19 L= N S §
== S=TS S=Z7T1 SS0O0 L= = =455
[ . ] S5 SsS5== Sa35S L=p=i=1 =1 L= =0 B ]
[ =1=4 SaS5S Saas 53515 E=1=1=1=1 =557
g el =711 L= = Sa5z= == 1= hr L= ===
T=s S5t SS=0 53551 =red == === ey
L=} == S 8 56545 5597 5507 S7TO1
8 SEISS L=1=3=0 1 SS=Z0 S55- Sa40=
=10} S50 5375 5510 S5445 5335
b= L= 53551 E=ed = =Y S5z SS9 S5=T
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Type 6 Radar Waveform_2
Fr e apen e wm e o a = = -
Tai=%t (MH=D
(8 ] =547 SsS1= I=t=t=1m] ==d = SaSS
= SS9 == b=y SE=9 S=54 Sa4=5
A0 SS0= SS04a S5 S4aToO == =1=
1= =S=7TO ===t =SS5 === = ==7T1
= =413= S=a9= === a=] ==97 =SST=
== S5l1= Sa4== S== =t=1=1=1 ST15
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Appendix B - Test Setup Photograph

Refer to “2202RSU047-UT” file.
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Appendix C - EUT Photograph

Refer to “2202RSU047-UE” file.

The End
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